SINCE'

1976

OIL & GREASE
LUBRICATION PUMPS

ALL PUMPS & SYSTEM FOR MACHINE TOOLS

@ ARYUNG

Www.aryung.co.kr
AR202101-ENG/JAP-00



OIL

Lubrication Pumps

TECHNICAL DATA 03
BT — 4

AUTO TYPE 07
*—ha17

AMGP-01A Series
AMGP-01M Series

DISTRIBUTOR
F4AR)IEa—%—
DB Series

Flow unit : AJB, ASA
PVO Series
ARD-340/350 Series

31

AMGP-01S Series OIL MIST LUBRICATION 36
AMGP-013/015 Series T X NEB
AMGP-025N Series (T7AAINIZE)
AMGP_**NS Series (Alr—oll MiSt)
AMGP-200NS Series AOML-3000 Series
AMGP-0IN/O2N Series AOL-4 Series
AMGP-03/05 Series ARD-440 Series
AMBP-03C/05C Series ACCESSORIES & FITTING 40
AMGP-053 Series 77.&-”—”_&7{“/_7_4 sjﬁ
MANUAL TYPE 29 Qil Reservoir
ES VP Accessories
ALP-8LF Series Fitting
ALP-ILH Series FAILURE CAUSE AND 47
COUNTERMEASURE
SRR & 3R
GREASE ELECTRIC DRIVE TYPE 49 DISTRIBUTOR 57
Lubrication P B7HB ST F4XRUE1—g—
ubrication Fumps AGP-DGI0 ARU-R Series
AGP-MG10 PVG Series
AGP-15 Series
ACCESSORIES & FITTING 60
FEa1T Accessories
AHGP-700 Series Fitting
TECHNICAL DATA 63
AIRDRIVE TYPE 55 i —4
IT7RSA4TE1S
HISTORY 65

AGP-720 Series

BE



209 O
TeChnical data | FAREE LUBRICATION PUI‘(’I)Iilg

Resistance (proportional) type lubrication method | &tz BiEs =

v~ As a resistance type system, there is a proportional pump, and it is a system that proportionally or adjusts the oil supplied
from the pump by generating resistance to the control valve or flow unit of each distribution valve and supplying the oil by
the strong or weak resistance.
BRI TLE LT AR THH D EREAOHIEF /LI T7O-1 2y MIEMEREESE. BULEIEHEL
BHUCE O HERIET B CICE D RO THoaI N2 Bz A I3AETEOITLTY

v~ The flow rate of each outlet is proportional to the discharge amount of the pump, and the flow rate is supplied to each
lubrication point through the distribution valve.

BFEHODORBIFIRY TOHHSICHAIL. AREAEN LT EHERICHHEINE T,

v~ Flow unit (Code No. 03 ~ 4) has an AJB type that is combined with a distribution valve and an ASA type that is attached to an
oil supply point, and the flow rate increases at a rate of about twice as the number of the engraved code number increases.
70—2=v MMa—RKNo.03~4)ld. HEAEMBAEDE - AIBZ A FLMEHAR A > MIED [ 5 7cASAZ 1 7Ty
MERFRENS NI - RESICL>T2EREORETEML Fd, RSN -—RESIBRIET, Fo>T3,

| | |
@6 main pipe | @4 main pipe | @4 branch pipe
FEE FEE i BE
- - -—‘ r--is
- LT -
i 3888
Y ALP-4Y B
| . 4 TA4 KD-4 & ** {
OIA(F)}TL8  OIM(F)-TLS | | _— 000
. .1 : '._.. T
01S(F)-T1.8  013(F)-015(F)
"‘i e - — ASA
OO0
ok @ e
N
DB-4

EBeng — We
e —— We

01M(F)-T03




Technical data | #li57-—%

Quantitative lubrication method | E&#EEx

v~ A quantitative lubrication system is used in combination with a fixed-quantity pump and a fixed-quantity distribution valve,
and this method is a method that quantitatively measures the lubricant discharged from the pump at the distribution valve
and supplies it to the lubrication point constantly.
EEMBEHY AT LIF. EERYTEENEHE —RICERINS CORZE. Ry ThoHenicEatizadbtth s EE
T8 L Ul —EICHIG T 2 A TH 5,

v~ The discharge amount of the quantitative distribution valve is determined by the Adjust Nipple, and the greater the number
engraved on the Adjust Nipple, the greater the discharge flow rate.

EENAOHEERE TS v Ay TILVTRED, 7Ov R b 2y FIUZERIENTOSHEFAART VIEEHEREN L <D £,

v~ In order to use it in combination with a fixed-size distribution valve, a depressurization valve must be attached to the pump
and the pump must operate intermittently. If the pump is not operated intermittently and is operated continuously, the
pressure in the pipe does not drop and the quantitative distribution valve can not perform the next operation, so discharge
does not occur.
EEH 1 XDDE/NIL T CHEAEDE TR B BE/ LT ER ARO[ RTINS E 20BN H D £9, R
VOB E S ERER D ¢ EEBNOESIMME N E . EENTANADEGLZTA RV, HHEAIREL FE A

v~ To operate the pump intermittently, you must use a pump with a built-in controller in the pump it self or in connection with the
controller on the machine side.
RO THEEIRNICERT 21581 RYTERICOY FO—2—% WELERY T £REEMAoIY bO—2—laah
TTERTIHNENHD 7,

I | S |
@6 main pipe | @4 main pipe | @4 branch pipe
TERE T EE % iE

ARD-342 ARD-343

\ X
ARD-345
- -
A'4 --rﬁ
i

—l TD-4/ %

==

ARD-352 / |
ARD-
01N/02N/03/05 353

Lo [

ARD-355

-rm—

\




OIL LUBRICATION PUMPS ()

How to calculate the lubrication amount | {&HEDEER®

1. Requirement calculation Q= Required oil supply (cc/hour)
K = Oil supply index (See table below)

formula

Unit (mm)

1L EHHER Q= EOilfftiaE (cc/ hour)

K= OilfitiGesk (See table below)
BAL (mm)

Refueling place/ #&it5FT | Formula / 58z Refueling place/ #&;mt5FR | Formula / 58z

Bearing _ A Chain
=0.1/254 X d ter X
Q=0Y e Q=005/254% X length X width
number of rows X K 9002900 K
=0.1/254 X B X Bk XK _
Oy R @ Q=005/2582X £ X g XK
O (Ball, Roller, Needle bearing)
Sliding bearing Ball bearing way
Q=0.15/254% X Shaft diameter Q=003/254 X length X
@ X Length X K number of rows X K
Q=0.15/254* X EEX £ & XK Q=0.03/254X F & X EK XK
Plane sliding _ 5 ) )
=0.3/254% X pitch X diamet
Q=001/2542 X length X width Q=03 © pren & dameter
@ " X gear width X K
_ Q=0.3/254° X 2y F XBEEX
=0.01/254*X £ & X 1B XK
Q=001/ REXIE XK
Cylindric sliding

Q=0.15/254% X diameter X
length X K
Q=0.15/254° X BEXE T XK

Q=0.08/254% X contact
circumference X width X K
Q=0.08/25.4% X HABFIJE X 18 X K

2. Calculation formula based on experience

BRICEDGHER
Sliding bearing Gear Oil Supply Constans (K)

- 5 . . _ . 20
Q=3Xr*XNX10 H:(1.5HP - k)X 10.6 = 15.9HP - k s lo i s gi;gkgr
Q : Minimum lubrication amount / H : Calories generated / 18 {m/min)

SERHRE (Gallon/min) EpEnchay — (keal/min) ::
R: Shaft radius / &+ 7 ~44Z (inch)  HP - horsepower / &7 i
N : Number of revolutions / 1.5 Coefficient / £7#% 14

B (rpm) 10.6 2 HP=10.6(kcal/min) :i

. . k : coefficient of heat loss / H#IBIFRER it e i or

Rotating bearing standard / 15 © 0.015-0.018 1o |19 20 30 40 50 60 70 80 90 100/110720 130 140 150 %E:?;;:.n)
Q=(3.25 X 10°/ /\t) DfnF precision gear / ¥Z=+ 7 1 0.008~0.012 g: /

Q: Ol supply / #&3HE (&/min) |y 4 A4 58 78 9ofwunzazuwas RO
. 06 i
i A B et
D : Shaft diameter / Q=supply volume / i (m/sec) 4 /ﬂ e )

0.3

2 v 7 FOBER (mm) r : the specific gravity / L& (kg/m) 05 /
f: Coefficient of friction // BEHREX ¢ : specific heat / lt# (kcal/ kg°C) 01
(0.001-0.002) At - temperature change / JREZ1(°C) UT

n : Number of revolutions /

[ElER£R (rpm)
Flweight/ 7z & (kg)
% This calculation formula is based on the oil temperature of 0.47 kcal/kg °C.
% COFHETNE. 04Tkeal / kg’ COIRICETVWTWET,




Technical data | i~ —%

function of major parts | =R oA

Float switch

When the oil in the tank reaches the lowest oil level, the contact
point of the float switch is "on" and can be connected to the
user's control device for oil shortage warning and shutdown of
the machine.

The voltage used : AC250V or less, DC 200V or less
Contact Capacity : AC0.33A, DCO0.5A

OIL LUBRICATION PUMPS ¢

70-FRA1YF

B IRDTANHDREF I LANJUSET B L. 70— R
1y FOERD Tony IBD. I—H —OFIEEBICEL LT
FANTRDERAEMD S vy ML T VZITI ZENTEERTD,
EFEE | AC50VLF. DC200VILTF

EAAE [ AC0.33A. DCOSA

Pressure switch

The function to identify the malfunction of the pump by detecting
whether the pump reaches the set pressure within a certain period of
time at the beginning of the initial operation. During normal operation,
the contact point of the switch is to be "ON" and the signal of this
contact can be connected to the control device on the side of the
machine, which can be used for malfunction alarm of the pump,
shutdown of the machine, etc.

Setting Pressure : PS-0.15 (0.15MPa), PS-1.1 (1.1MPa)
The voltage used : AC 250V/DC 32V or less, 1.75A or less

ERRAvF

TEEERRRE. —ERERICR Y THREENISEL DY
SHERAML. RYTOWERET 2 LT, @BREDE
ERIE. R0y FOERD Tony ICAD. COERADESER
PO BIEIC 5 2 FIEERE |3 L TR Y TORENFER. i
BRE DUy MO VIERATEET,

F|EEAH : PS-0.15 (0.15MPa) . PS-1.1 (1.1MPa)
RS : AC 250V / DC 32V R, 1.75ALTF

Set operating time

The pump generates high heat from the motor during operation,
so sufficient interval time (interval stop time) must be made.
A shorter interval time (interval stop time) than the discharge
time results in a high heat generation in the motor, which is
automatically stopped by a safety device mounted inside.
However, when the heat cools down, it works normally again.

B E DFRE

Ry ANEGEERICE—F—HD SR ERETEH. +HRIK
LIEBRS (7 o2 —NILEIEER) ZRHERTI2HELHD £ 9,
HEEBEDH A VX —/NLER (1> 2 —/N)L{EEER)
MEWE, E—Z—DERANKEI RO, REPICWOHIF5N
TREEBICL>THEBMNICELELET, L. B3
Y. BUEBICHEEL £,

Relief Valve
Pressure Setting Range : 0.2 MPa to 2.0 MPa

Y= NILT
[EAERESEH : 0.2 MPa~2.0 MPa

FEED button function (manual refueling)

Pressing the "FEED" button while the operation is in progress
releases oil while pressing regardless of the set time. It can be
easily used to remove air in the jurisdiction by installing an initial
pipe or to refuel manually. However, this function can only be
used when power is connected to the control device on the
machine using the FEED button switch contacts built into the

pump.

viscosity |
M

operate.

HHHaR 2 U1ee (Famah)

SEerrhic MR RV ZIBT . RERBICEFRAEIRLA
DNEFAIHBEINET, PHNA TERBTZ e TEE
KIgNDZESEZRELD. FETHREE®IBLIED 570
ICEEICRETIEY, 2L JOEEIL. r/jhﬁ@L
FNTVBRMHIERE > X1y FESZFER L TR O SIS
ICERNEF N TUVBIEERICOAMEATETE T,

Since viscosity varies greatly depending on the temperature, use oil of the appropriate viscosity by referring to
the table of changes in the tie according to the oil temperature. If the viscosity is too high, the pump may not

HMEITREICE > TRECERNULEITOT, WRICKZBHMEOENREZSEIC. BYIBKEDBZEAL

TSV, #EDS

TEBLRYTHERILBRVEEDHD T,

Equivalence Variation by Temperature | BEIC & 2EHEOEMLR

i 1 0 N 1 ) ) B ) T N e S

VG32 3250 1170 440 240 1354 76.1 464 30.2 208 112 86 69 33 29

VG46 None 3600 1270 520 2613 134 757 463 302 208 15 112 87 69 56 46 39 33 29 25 22
VG68 None 8000 2500 950 433 212 115 679 43 288 203 147 113 88 71 58 48 41 35 3 27
VG100 None None 4500 1600 772.3 356.6 183.8 103.8 632 41 281 201 149 114 9 72 6 5 42 36 32

VG150

None None None 3570 1236 5532 277 152.3 905 574 385 27 197 149 116 92 75 62 52 45 39




A\

2909 (
ANALOG TYPE UBROATION U

AMGP-01A(F) Series | Digital control type

AMGP - 01A F-TO3 -T - 110
@ @6 @ 6 6

(D ARYUNG Motor Gear pump @ Tank capacity / 2 >V B2(0)
@ Pump classification / 7> 7548 ~ Nomark:1.8¢, T03:3.00

® OQil level detection switch / ® Refueling method / &334
FAINLAILBE A v F No mark : Proportional expression / HA=%
No mark : None / 7 L T Quantitative formula / EET

F: Mounting / 522& ® Voltage / BBE(V)

v~ A pump that is intermittently refueled by the control of its own built-in digital timer and has an AMGP-01AF-T type, which
is used in combination with a proportional distribution (DB type), and an AMGP-01AF-T type, which is used in combination
with a quantitative distribution (ARD-340,350. PVO type).

AT D 2ILE 1 —DOFIDIC & DB ET 5. HAIHES (DBX ) CilsahE THEAT BSAMGP-01AF-TX 1 7
AMGP-01AF-TR A DR T BFEDBCHAEHLE TERINET (ARD-340,350, PVO&Z 1) ,
v~ The digital controller displays the operation status in numbers and letters on the front operating panel, indicating that it
looks beautiful and identifies very easy any abnormalities.
TULINAY FAO—FE BEOBRENRIVICETERRZHF EXFTRRL. MENELC ERICEEICEEZHIL &9
v~ The method of setting the break time and discharge time is convenient and accurate so that the amount of lubrication
required can be supplied at the right time.
REERS R & M BB DR E FHENMER TIERG oo, NBREEEZ BRI 1 IV THIGT 2 A TEE T,
v~ If the oil is low level due to the detection of oil degradation, the signal can be connected to the external control system by
sounding a warning tone. (option specification)
FANORREAL THANDDRL B TIBEIE. BEBERS LTINS 2T LICESERBRI 2 en T, (BRI
v~ Thereis a "Feed" button on the front of the pump, which makes it easy to remove air from the pipe after installing the initial
pipe, and this button enables manual supply.
RYTHEIC &R RE22DH 0. VHREEERBROEEN S OEQKINES T FEHSHNAIRETT,
v~ Use is widely used in machine tools, printing machines, food machines, textile machinery, injection machines, and various
industrial machinery.
TIEMR. ENRIGE. Bmtdim. S, Som. SEEERNL CICRAERATNTVED

PUMP SPEC’

Discharge| Working | Pressure | Reservoir| Viscosity |Outlet Net Phase 1@, Poles 2P

volume | pressure | range capacity | ype O |Weight Motor | Fre- Rated | Current
HRE |ERAEH |ENEE (2078 PT EE kg |Output |quency |voltage |ggsp
cc/min | MPa MPa e /W | EiES/Hz| BE/V
50
15

01A 85 ) 100/200  1.4/0.7
08 02~17 18 30~500 1.8"(@4) 28
01AF 100 60 110/220  12/06
85 ) 50 100/200  1.4/0.7
01AF-T 17 02~17 18 30~500 1.8"(@4) 28 15
100 60 110/220  1.2/06
125 ) 50 100/200  2.0/1.0
0IAF-TO3 08 02~20 30 30~500 1.8"(@4) 47 25
150 60 110/220  1.8/09
125 ) 50 100/200  2.0/1.0
01AF-TO3T — 17 02~20 30 30~500 1.8"(@4) 47 25

150 60 110/220  1.8/09




ANALOG TYPE

Appearance | 5\

AMGP-01A(F), 01AF-T

169
& 142
121
4-07 HOLES | | =
1 5] [ m
= L-TE’
8 | -
—19| @ =)
) -

AMGP-01AF-T03, 01AF-TO3-T

289

245

145

125 220 —
Bower Lpmma 6] | L
| | | €D -
|- | S = £ 4 P I
LF' W ﬁ@@@ UE&ET
T ﬁ_ﬂ —— ! ;‘3 R Op/ [‘
i » (QUTET) |
2l . /’ijy Ki g /{_ .
A-RYUNG [~ A& ~
| LA e
| 200 |
(274)
Schematic | EIEX
AMGP-01A(F), 01AF-T03 AMGP-01AF-T, 01AF-T03-T

Proportional expression /
EEEI=

Quantitative formula / &%

Apply | &

- Fluid used: Oils
- Recommended oil:
winter — 32 cSt below
Summer — 68 cSt below
- material
Case and Cover : Plastic
Tank: Plastic
Gear Pump: Steel
Axis Guide: Plastic/ZnDC
- Usage temperature: below 80°C
- refueling method
Proportional expression: AMGP-01A,
01AF, 01AF-T03
Quantitative Equations: AMGP-01AF-T,
01AF-TO3-T
- Control method : Digjtal type
- Stop time : 1~99min
- Discharge time : 1~99sec
- Pressure gauge : PG-35K (AMGP-01AF-T03)
- Level switch : FS-A (optional specification)
- Hughes : 0.3A

ERTIB/IE: AL
CHESEA )L L R3St LT
E—68cSt AT

- =M

T—=REAN— 1 TSIAF v

B L TSAF Y
XTRYT I ZF—IL

AR FSRF v/ ZnDC
- {EFRE 1 80°CLT
RHAE

EEBIS © AMGP-01A, 01AF,01AF-T03
EERHTET | AMGP-01AF-T. 0IAF-T03-T
CHIEAE D TORILEA S
- {SLEEERY : 1~999
- I BFRY ¢ 1~99%)
- Bt PG-35K (AMGP-01AF-T03) o
LRILRAYF D FSA (A7 3>
-Ea—X:03A

Wiring diagram | EZizX

CONNECTOR] PLUG | D®:POWeR

ONONICRO,

2 . BLACK
CONNECTOR| PLUG | FLOATS/WOPTION
> M@ : POWER
OO
@ G

- OIL ALARM
1'RED

2 BLACK
3°WHITE
4 GREEN

SES
©
®
®




OIL LUBRICATION PUMPS

?9

P

Panel (@ Feed button . e St
description @ Reset button Lower Lub ce E
AMGP—01AF
P ) Mode button CENTRALIZED |LUBRICATION SYSTRMS / E d
@ Interval FND s s

INTERVAL TIME DISCHARGE TIME

=

INTERVAL TIME

5

DISCHARGE TIME

® Discharge FND

Bl

MINUTE 1 SECOND

Digital Control system

How to set the timer m mfjw Il [‘RLF

4

| 21 —DFRESHZE @ Cb @
* Adjustment range * SRR * Discharge flow rate conversion * HtiHREZH
Interval Time 1~99min PRU-EFE1~999> 01A(F) ~ :100cc/min=1.67cc/sec  OIA (F) :100cc /9= 1.67cc /B
Discharge Time 1~99sec I HH B R 1 ~90F) 01AF-T03 : 150cc/min = 2.50cc/sec  0IAF-TO3 @ 150cc /3= 2.50cc /#
1) How to set ) BEhE

MODE W Esetﬁing start, move, setting complete TR W REEL. BE. s
FEED A : Raise the number s A - .

REST W Decrease the number JTFA: ﬁé%ﬂ?é

Uty bV BzE5d

A) If you press the Mode "I" button No. @) once, the value of the interval time blinks. At this time, if you press the “A” button No. @, the
value increases, and if you press the “¥” button No. @, the value decreases. When the desired interval time setting is completed, press
(3 Mode "H" button once again, and the discharge time value blinks. Likewise, if you press @"A" button, the value increases and @ "
V" button Press to decrease the value. When the desired discharge time setting is completed, press the @) Mode "H" button to exit the
setting mode.
A E—F TH REZUNo@=IEHRY & > Z—NILEHEOBARBLET. COrE TA] REZYUNoOZEFT LEHARE <A
D TW] REZUNoQERT LBEMNNSKBDET, BLOA V2 —/NLEBRENTT LS. @F—F Tl A2 265 F
Wy, HEREOENRBL &3 BRIC. O TA) REVERTEEMMNEML. @ V) REVZ/TEENRDLET, HLED
HHEEERENT T Lics. @F—F Tl REVZRL TREE—F2RTLET,

B) If there is no input within 10 seconds during the setting, the setting is regarded as completed and it is automatically converted to the
operating state.
B) SREFRICIOMLURICANIDNARWGE, REWRST T Liceaadh. BBNICERREICEHRINE T,

C) Each time the "A", "W" button is pressed once, it increases or decreases by 1 value. If it is pressed continuously, it increases or
decreases continuously.
O TAl. TV REVZEIERT NS, METDIERL £9, BLEIT2 & ERIICERL F T,

2) RESET function

If the “RESET” button is pressed while the operation is in progress, the set initial operation state is restarted.
2) Uty SIEEE SBERFRIC TRESET) RA V7T r. FE LIVEBERIREICRD £7,

3) FEED button function (manual lubrication)

If you press the “FEED” button while the operation is in progress, “FEED” is displayed on the display window, and oil is discharged while
pressing it regardless of the set time. It can be easily used when the initial piping is installed to remove air in the piping or when manually
refueling.

3) T — RREUMEE (FEpeH) EEAPIC TFEED) RE2 Y=g . RARIC [FEED) MRASH. RERMBICEFRR RLAD
SAAIABEE TN E d, VIR EZRE L CTRENDOZES 2R IFEY. FETHRT 3HBSICEEICFERATIEFY

4) Oil shortage alarm (Option)

When there is insufficient oil in the pump, “OIL” is displayed on the display window and a buzzer sound is generated so that the lack of
oil can be easily identified.

4) FAINFRTZ—L (FFay)

RYTROFANHTELTVBHBEIF. RARIC 0L ERRSH. TH—FNED. FIIABZBRICHINTETE T,

Minimum setting conditions Operation time setting | ;E&r5mRE
| S\aRE RS As this pump generates high heat from the motor during operation, a sufficient

. . . Interval Time (intermittent stop time) must be set according to the table on the left.
Discharge Time Interval Time . L . . . )
I SR RS Ae{s L BSES If the interval time is short compared to the discharge time, high heat is generated

in the motor, and the motor is automatically stopped by the safety device installed

1~ 10sec About 2min or more T ‘ '

11 ~ 30sec About 3min or more inside. However, when the heat cools, it resumes normal operation.

31 ~ 60sec About 5min or more ARV INGEGHPICE—F—DORAERET BT, ORI >THRBA Y
61 ~ 99sec About 10min or more Z—=NIVEE BRELRNE) 2RET24ELHD T, WERBICHARTT Y

2= NBREIEVE. E—F—ICaBBEEL. REICRESNILREREBICEL
DE-Z—HBENAMFLELE T 7l BDVEZ 2 LBBOEEICRD &9,




ANALOG TYPE

AMGP-0TM(F) Series | Analog control type

AMGP - 01IM F - TO3 - T - 110
@ @ 6 @ 6 ©®

(® ARYUNG Motor Gear pump (® Refueling method / #5075 7%
@ Pump classification / R > 7948 No mark -
®) Ol level detection switch / Proportional expression / LBz

F4 LLAIBE R A v F TZQuant;;ative formula / E23
No mark : None / % L © Voltage /21 V)

F: Mounting / 382

@ Tank capacity / 2 >V &E ()
No mark : 1.8¢, T03:3.0¢

A pump that is intermittently supplied by control of its own built-in analog timer and is used in combination with a
proportional distribution channel (DB type).

WED 707 2 —OFC & DRI, HHDETF v L (DBX1 ) CiAahE TEAINERY 7,

By rotating the volume from side to side using the analog control method, it is convenient to set the resting time
and discharge time, and the range of error is small, and lubrication as much as is needed at the right time is possible
THOJHEAR TR 2—LEERICEERE €5 C C T RIERE E HHREBZREY 5 DICERT. SREOQSENNE . 48
BT OEBDEIET,

Operation status is displayed on the LED lamp of the front operating panel, making it very easy to identify the operating
conditions and abnormalities.

BIEHRIE/ SRILDLED S > T ICEWERREA R RSN B Tcd. EERREPER ZEEICHAI TS £90

There is a terminal that can connect the signal to the external control system by sounding a warning tone when the oil is
low due to the detection of oil drop. (Selective specification)

SHERRFIC & OJEED D73 < B o Tc FICEHE RS L TR AT LICES e #i CE2MFA DD &9, GERMER

There is a "Feed" button on the front of the pump, which makes it easy to remove air from the pipe after installing the initial
pipe, and this button enables manual refueling.

RUTHIEIC BEHRT« — R A2V H 0. VEEERBROLED 5> DESIRINES T FHHHNPIET T,

Use is widely used in machine tools, printing machines, food machines, textile machinery, injection machines, presses, and
various industrial machinery.

TEr. EDRIRE. Brmtdil. M. Sk 7L X SEEEHENACICRAERINTUE T

PUMP SPEC’

Phase 1@, Poles 2P

Discharge| Working | Pressure | Reservoir| Viscosity | Outlet
pressure capacity | ypps MO Motor | Fre- Rated |Current
PT Output |quency |voltage T/ A
WH /W | BE#/Hz| BE/V
50
15

01M ) 100/200  1.4/0.7
3~100 1~120 0.8 18 30~500 1/8"(@4) 2.8
01MF 60 110/220  12/0.6
. 50 100/200  2.0/1.0
01MF-T03 5~150 1~120 0.8 3.0 30~500 1/8"(@6) 47 25

60 110/220  1.8/0.9




Appearance | 5\
AMGP-01M(F)
169
142 17
121 108
4-p7 HOLES o
=07 HOLES | |
|| @oner iom ce| [H-jouner -
15| [ogau"] o4 | PT 1/8" '
- LUBRICATION SYSTEMS =] [OU TL[TS\\ | _E
25 1. & \ g
Qj | 2 E_ 3 11 = |
i I C 1
1 Z.?. = ﬁ
&
\
o | |
e J

iCi
116

143

A

A-RYUNG , g

N
%5
!

Labreatien Frame

\ 200 |
(274)

Circuit diagram | EIE&E

AMGP-

01M(F), 01MF-T03
Proportional expression
/ HeBIE

Wiring diagram | B2z

CONNECTOR

0@

PLUG

@0

CONNECTOR
ORONFORO
© Q/\Q Q

PLUG

M@ POWER
¥ 1:RED 2:

BLACK

FLOAT S/W OPTION
D@ : POWER
3@ OIL ALARM
¥ 1:RED 2:BLACK
3 WHITE 4:GREEN

Apply | &
- Fluid used: Qils

- Recommended oil:
winter — 32 ¢St below
Summer — 68 cSt below

- material
Case and Cover : Plastic
Tank: Plastic
Gear Pump: Steel
Axis Guide: Plastic/ZnDC

OIL LUBRICATION PUMPS

ERRE AL
CHERATIL
K—32c¢St UL
E-68cSt LT
- &M
T—=REINN—= I TIRFYY
B L TTRFYY
FTRT I ZF=)
AR FSRFYI/ZnDC

- Usage temperature: below 80°C - fERRE : 80°CUT

- Refueling method:
Proportional formula
- Control method: Analog type
- Stop time: 1~120min
- Discharge time:
MF-T1.8:3~100cc
MF-TO3 * 5-150cc
- Pressure gauge:
PG-35K (AMGP-01MF-T03)
- Level switch:
FS-A (optional specification)
- Hughes: 0.3A

KA AR
AR 700207
- {SLEBFRE © 1~1209
- D LB
MF-T1.8 - 3~100cc
MF-T03 : 5~150cc
-EAHE:
PG-35K (AMGP-01MF-T03)
LRIV F .
FS-A(F 7> 3 > 1H#F)
cEa—X:03A

Minimum setting conditions | &/)\s&EsM

Discharge Time

RIRELLE R

Ik L R

1~ 10sec About 2min or more
11 ~ 30sec About 3min or more
31~ 60sec About 5min or more
61 ~ 99sec About 10min or more

As this pump generates high heat from the motor during
operation, you must set a sufficient Interval Time (intermittent
stop time) according to the table on the left. If the interval time
is short compared to the discharge time, high heat is generated
in the motor, and the motor is automatically stopped by the
safety device installed inside. However, when the heat cools, it
resumes normal operation.

AR TEBGERICE—F—DOoRRERET B0, EDXK
IR THR7%1 2 —)N)LEE (BRELERRE) 25RET S
WEDRHOD T, HHEFBICEARTT >4 —/NLEBAEE L
e B2 —ICRENEEL. ABNCRBEINLREEBICEK
DE—2—HEEFMIELELET, L. BB R 25 8BE
DEEICRD £75




ANALOG TYPE

AMGP-01S(F) Series | Analog control type

v

AMGP - 01S F - 110
@ @ e @

(@ ARYUNG Motor Gear pump
@ Pump classification /7R> 7548
® Ol level detection switch /
FAIWLANIUBERA v F
No mark : None /% L,
F: Mounting / &&
@ Voltage / BFE (V)

This pump is supplied intermittently by the control of the built-in analog timer and is used in combination with the
proportional distribution valve (DB type).

ARV TNE WE 707 21 X —OFHBIC & DRI EHES N, HAIDESR (DBZ 1Y) CHAEhE THERALE T,

It is designed with a dustproof structure so that it can be used in mechanical devices with a lot of shock and vibration, so its
durability is very good.

PERSEICERFT TN T D BRCRDDOZ VVMEBICHERTI 272o). MAKICENTLET,

By detecting the oil level, it sounds a warning sound when there is insufficient oil, and the signal can be connected to an
external control device. (Optional)

FANLRIVERAY BT AT FERICESEZR5 L. SNBEIEEBICES RIS A TEEd, (F72aY)
Since there is a “Feed” button on the front of the pump, it is easy to remove air in the pipe after installing the initial pipe,
and manual lubrication is possible by using this button.

RUTRIMEIC BT« — R REVHIMHVTVS DT, IR EEEROEENDETRSIEZ T FEEHN IJRETT,
Applications are widely used in high speed presses, injection molding machines, machine tools, printing machines, food
machines, textile machines and various industrial machines.

BAIE mERTL R STHIA. TR, BRI, BmEi. SRR, LU0 TS TAEEMBTLIERINTVET,

PUMP SPEC’

01S

Discharge| Working [ Pressure
volume | pressure |range Rated Current

HHE |@REN |EHEE voltage | s/ A
cc Min MPa HA /W | AiE#/Hz| BFE [V

. 50 100/200  1.4/0.7
3~85 2~100 0.8 18 30~500 1/8"(@4) 2.8 15

01SF 60 110/220  1.2/06




OIL LUBRICATION PUMPS

Appearance | S\# Apply | &
AMGP-015(F) - Fluid: Qils A AT
- - Recommended oil: ERAIL
P 1141 {17 Winter — 32cSt or less Z—32cSUAT
\ ‘ ¢ —h | T Summer — 68cSt or less E—68cStLLT
N ig @ s - material )
] & SO f || B Case and Cover : Plastic T=REAN= L TZRAF VY

(179)
1

LS

l PT 1/8" /
| PT 1/8"/
(OUTLET)
s
| -

.

(239)

151

Tank : Plastic
Gear Pump : Steel
Shaft Guide : Plastic

- Operating temperature:
80°C or less

- Lubrication method:

B L TIATF VY
FTRYT I AF )
S ITRAAR I TSRTYY
-fERRE 1 80°CIUF
CEHAE

HIEER 7o

proportional LRIy F L FSA
- Control method: Analogtype (A 7> 3>)
- Level switch: FS-A (optional) - Ea—X:03A

- Fuse: 0.3A

(oB|Ke) @ Interval Time LED @ FEED Button (Oil Manual Supply)
By () sy SRS @ Oil Level down alarm  ® Interval time Volume
L (3 Discharge Time LED ® Discharge time Volume

Circuit diagram | EE Minimum setting conditions | /)&=

@]
Proportional expression @ | STLET It HH BT RIR LR
| st ! 3 <> 1 ~ 10sec About 2min or more
X
i /W 11 ~ 30sec About 3min or more
— -< 31 ~ 60sec About 5min or more
61 ~ 99sec About 10min or more
«y
ANK

As this pump generates high heat from the motor during

Wiring diagram | EcfzX
CONNECTOR|  PLUG CONNECTOR

00
00)©9) |(5a

operation, you must set a sufficient Interval Time (intermittent
stop time) according to the table on the left. If the interval time
is short compared to the discharge time, high heat is generated
in the motor, and the motor is automatically stopped by the
safety device installed inside. However, when the heat cools, it
resumes normal operation.

PLUG

ONO
® Q@

ARV ISTEGHRICE—F—DOoRRAERET 2D, £DX

@M@ : POWER FLOAT S/W OPTION >
P4 1:RED 2 BLACK @@ . POWER CCTE’JT‘F%\@’( \/g_/\\}LB%FEﬁ (FE?T%H:H%—FFE%) %EQET%
0@ - OIL ALARM BEDHD ET, HHFFBICHEARTT > 2 — /LD

s B -ICERNHREL. AMICKRESNILLREREICK
DE-—Z—DEINIFELELET, L. BSZ 2 BT
DEEICRD £,

% 1:RED 2:BLACK
3'WHITE 4:GREEN




ANALOG TYPE

AMGP-013(F)/015(F) Series | Analog controller type

AMGP - 013 F - 110
@ @ 6 @

(@ ARYUNG Motor Gear pump

@ Pump classification / R > 7948

® Ol level detection switch / #-1 JLLAJL
BHEZA Y F

No mark : None /% L, F:Mounting / &&
@ Voltage / BJE (V)

v~ This pump is supplied intermittently by the control of the built-in analog timer and is used in combination with the
proportional distribution valve (DB type).

ARV TNE WE 707 21 X —OFHBIC & DRI EHES N, tAIDESR (DBEAT) CHlAEHhE THERALET
v~ Itis designed with a dustproof structure so that it can be used in mechanical devices with a lot of shock and vibration, so its
durability is very good.
PERSICERE TN TE D, BECRIOSVHIEEEICHDERATI 570 MARICBNTVLET,
v~ By detecting the oil level, it sounds a warning sound when there is insufficient oil, and the signal can be connected to an
external control device. (Optional)
FAIWLNIERH TS E T AAINABRHICESEZB5 L. ESIEBICES 2 #fiT2ehTEET, (A7 3Y)
v~ Since there is a “Feed” button on the front of the pump, it is easy to remove air in the pipe after installing the initial pipe,
and manual lubrication is possible by using this button.
RUTRIEIC A7+ — R REZVHMHVWTV B DT, PHIREEERORENDZESRINEZ T, FENDEN IETT,
v~ Applications are widely used in high speed presses, injection molding machines, machine tools, printing machines, food
machines, textile machines and various industrial machines.
BAIE ERTL R STHA. TR, BRI, SoE. SERR. LU0 TS TAEEMRTLCERINTVET,

’
PUMP SPEC
Discharge| Working | Pressure | Reservoir Outlet Phase 1@, Poles 2P
volume | pressure |range capacity MO Fre- Rated GUnenT
HHE (EREH |EHER |20 PT quency |voltage |ggsz p
cc/min | MPa MPa ?E Hh/W | R/Hz| BE/V
013 \ 50 100/200  1.4/0.7
5~100 3~30 0.8 18 30~500 1/8"(@4) 28 15
013F 60 110/20  12/06
015 50 100/200 1.4/0.7

5~80  30~120 0.8 18 30~500 1/8"(@4) 2.8 15
015F 60 110/220  12/06




Appearance | 5\

AMGP-013/015

167

TLET

AMGP-013F/015F

167
152
121

TLET

AMGP-
013(F), 015(F)
Proportional expressior]
/ HeBI=

a7
72
(=]
: d

87

248

151

=

75,515
108

N
-

OUTLEIT

38

97
72

87

J
ﬁ

248

151

Wiring diagram | Ecf®=

PLUG

N0

CONNECTOR

0@

CONNECTOR|  PLUG

ONONNONO)
@ ¢/ \Q Q

M@ POWER
% 1:RED 2:BLACK

FLOAT S/W OPTION

D@ : POWER

@3 : OIL ALARM

3 1:BLACK 2:RED
3:GREEN 4 :WHITE

OIL LUBRICATION PUMPS

Apply | &

* Fluid: Oils SHRIE AL

- Recommended oil: CHERAAIL
Winter — 32¢St or less & —=32cSt LT
Summer — 68cSt or less B —68cSt AF

- Material - &=
Case: Plastic T=R . TIRFVY
Cover: Aluminum AN—=7)L=

R L TSRAF VY
X¥7RT  ZF—)L

Y IRAAR I TSRF VD
{ERERE  80°CLLF
SEHAE A

1 s e e

Tank: Plastic
Gear Pump: Steel
Shaft Guide: Plastic
- Operating temperature:
80°C or less

- Lubrication method:

proportional LRIy TF
- Control method: Analogtype  FS-A (7> 3>)
- Level switch: FS-A (optional) - Ea—X:03A

- Fuse: 0.3A

Minimum setting conditions | &/)\s&EsM

Discharge Time Interval Time
0t HHBFR FIR{FLERS

1~ 10sec About 2min or more
11 ~ 30sec About 3min or more
31 ~ 60sec About 5min or more
61 ~ 99sec About 10min or more

As this pump generates high heat from the motor during
operation, you must set a sufficient Interval Time (intermittent
stop time) according to the table on the left. If the interval time
is short compared to the discharge time, high heat is generated
in the motor, and the motor is automatically stopped by the
safety device installed inside. However, when the heat cools, it
resumes normal operation.

AR NLBEHRICE—F— D oBAERET S0, EDOR
IS THR%1 > 2 — NV (BRELERRE) Z28ET 2
MENBD £, HHBREBICEARTH 2 —/NLEEHIEN
C. B —ICERNREL. RENICRBINZREEBICE
DE—Z—DBEHFNIEELEYS, L. DSR2 L8R
DEEICRD £




ANALOG TYPE

AMGP-025N Series | Analog control type

AMGP - 025N - ST - 110
® @ 6 @

(@ ARYUNG Motor Gear pump
@ Pump classification / R > 77148
® Tank material / 2 > 0 &4
No mark : Plastic
ST Steel
@ Voltage / BIE (V)

v~ This pump is supplied intermittently by the control of the built-in analog timer and is used in combination with the
proportional distribution valve (DB type).

AR TS AR 07 241 X —OHMEIC & DETiIC e T, LlnEcA (DBZ1 ) CAahE TRBLEY,

v~ Durability is very good as it is designed with a dustproof structure so that it can be used in mechanical devices with a lot of
shock and vibration.
PREEREICERET TN TV 2 7. BECIREIDZ VHINEBICEA TI 57t MAMICENTULE T,

v~ An oil shortage warning sound sounds when the oil level is low and there is a terminal to connect the signal to an external
control device.
FAIWLANILHMEL  ESTHNEBENIRE LR T 2R FHIH 256, TN FABESENBD 7,

v~ Since there is a “Feed” button on the front of the pump, it is easy to remove air in the pipe after installing the initial pipe,
and manual lubrication is possible by using this button.
RUTR@EIC BRD) REVHHTVWTVWE DT, VHREEERORENOZESREINEZ T, FEHIHEHN PIEET T,

v~ Applications are widely used in high-speed presses, injection molding machines, machine tools, printing machines, food
machines, textile machines, and various industrial machines.

Aid. BETL X, SR, TIFEm. IR Emti. SR, LU0 STERERBM TR ERINTLED,

PUMP SPEC’
Discharge| Working | Pressure | Reservoir| Viscosity | Outlet
volume | pressure [range capacity | ypqe i Current
WiHE |EREH |ENERE voltage | gssi/ A
caiule || /W | RS Hz| BE/V
50 100/200  1.4/0.7
025N 3~60  3~120 038 40 30~500 1/8"(24) 47 15

025N-ST 60 110/220  1.2/06




Appearance | 5\

AMGP-025N

145

57 BB

\

fre= =i

A-RYUNG

=

250

AMGP-025N-ST

appaas

Circuit diagram | =&
AMGP- QUTLET
025N oy~ 171

Proportional expression |
/ EeI= i
[

iIP.NK

Apply | &

- Fluid: Oils

- Recommended oil:
Winter = 32cSt or less
Summer — 68cSt or less

- Material

Case: Aluminum
Cover: Plastic
Tank: Plastic/Steel
Gear Pump: Steel
Shaft Guide: Plastic
- Operating temperature:
80°C or less
- Lubrication method:
proportional
- Control method: Analog type
- Level switch: FS-A (optional)
- Fuse: 0.3A

OIL LUBRICATION PUMPS (

SHRIE AL

CHERA AL
&—32cSt IR

E—-68cSt LUF

- &M

il S
AN= ' TSRF Y

B L TTAF VI RF =)L
FTRYT ZF—)L
YT RHAR I TSRAF VY
- ERRE : 80°CLLR
SERAE A

CEIEAER  Trnd a7
CLRILZAYF D FSA
(FF>ay)
-Ea—X:03A

Minimum setting conditions | &/\:&ExM

Discharge Time Interval Time
0t HHBFR FIR{FLERS

1~ 10sec About 2min or more
11 ~ 30sec About 3min or more
31 ~ 60sec About 5min or more
61 ~ 99sec About 10min or more

Wiring diagram | Ecf®=

PLUG

N0

CONNECTOR

0@

CONNECTOR|  PLUG

ONONNONO)
@ Q/1\Q 0O

M@ : POWER
% 1:RED 2:BLACK

FLOAT S/W OPTION

D@ POWER

@3 : OIL ALARM

% 1:BLACK 2:RED
3:GREEN 4:WHITE

As this pump generates high heat from the motor during
operation, you must set a sufficient Interval Time (intermittent
stop time) according to the table on the left. If the interval time
is short compared to the discharge time, high heat is generated
in the motor, and the motor is automatically stopped by the
safety device installed inside. However, when the heat cools, it
resumes normal operation.

AR FNEGEGRICE—F—DORMERET 51D, DK
SR> THRBr > 2—NILERE (BRELERE) Z28RET S
MHEDRBHD EYo MHEEFEICLANTA > &2 —/VLEREAE L
e B2 —ICRBNEEL. AENICRESNLZEREEICEK
DE-—Z—DBEINIFELELET, L. BNAZ 2 BT
DEFEICRD £,




MONITORING CONTROL TYPE

AMGP-**NS Series | Monitoring control type

AMGP - O0INS - TO3 - 110
® @ ® @

(D ARYUNG Motor Gear pump
@ Pump classification / R > 758

(3 Tank capacity / 2 > 758 (0)
No mark : 1.8¢, T03:3.0¢
@ Voltage / BE (V)

v~ AAMGP-01NS/025NS series lubrication pumps are intermittent oil supply metering pumps and are used in combination with
metering valves (ARD-340, 350. PVO type).
AMGP-0INS / 025NS 1) — BB > SRR ER > FTH D, 5t2/VLT (ARD-340. 350. PVO& 1) r#AEHhE T
FRALED

v~ ltis easy to identify if there is an abnormality in the pump because the oil level drop detection device and pressure switch
are built-in, and there is a terminal that can connect the signal of this switch to the control device on the machine side so
that it can be monitored by an external control device.
SHERRIEE C FHNR Y F2RELTVWE . RO TOEBEMNIODHNDPT . TORA Y FOESEIMAIOSIEESIC
R TIZMTFAHDET, IEHIEEE TEHIBTIBLSICLED

v~ Since the feed button switch is built in the front of the pump, it is easy to remove air from the pipe after initial piping, and
manual lubrication is possible by using this button.
RYTHEICT « — RREZV A v FERBLTWS e, PILESROEEN S DESIKRIHNEZ T, FENTHNAIETT,

v~ This pump is an intermittent pump and should not be operated continuously.
CORYTFERARTTHO. EFEEE LBV TLET L,

v~ Applications are widely used in machine tools, printing machines, food machines, injection machines, presses and various
industrial machines.

TIV T2 a v TIEEm. IR, Boi. SHEEHE. TR BLUT I EREERMTLAERINTLES,

PUMP SPEC’
Discharge| Working [ Pressure Outlet Phase 19, Poles 2P
volume | pressure | range HEO Rated Current
WiHE |EREH |ENRE PT voltage |z A
cc/min  |MPa | MPa WA /W | BNz BE /v
125 50 100/200  1.7/0.8
OINS — 17 02~17 18 30~500 1/8"(26) 28 25
015NS 150 60 110/220  1.8/0.9
125 . 50 100/200  1.7/0.8
0INS-TO3 ———— 17 02~17 30 30~500 1/8"(26) 40 25
150 60 110/220  1.8/0.9
125 . 50 100/200  1.7/0.8
025NS — 17 02~20 30 30~500  1/8"(26) 40 25

150 60 110/220  1.8/0.9




Appearance | 5\

AMGP-01NS/015NS

AMGP-01NS-T03

289

245
12.5 220
B e T
hi I'IA'!l]‘((

%)
= TM10x1.0p

(oUTLET) 2

A-RYUNG — it —
[H=-— . o v
290

Circuit diagram | =&

Y/ EER

QUTLET

OIL LUBRICATION PUMPS ()

Apply | &

* Fluid: Oils IR AL

- Recommended oil: SHESEACIL
Winter = 32¢St or less K—32cStLLUT
Summer — 68cSt or less E—68cStLT

- Material - F=M
Case: Aluminum T—RITILZ
Cover: Plastic IWN— TS ZAFvo
Tank: Plastic BY LTS RFYD
Gear Pump: Steel XTRVT  XF—-)L
Shaft Guide: Aluminum SYIRAAR I TILEZ

(Built-in Relief valve) =~ 4 (R U—2/3L7)

- Operating temperature: - {ERRRE  80°CUL T
80°C or less CHEEAE L EER

- Lubrication method: IS L (BETR)
quantitative formula LRIy F IFS-AB

- Control method: EHRAYF I PS11
None (Monitoring) - EAEt 1 PG-35K

- Level switch: FS-AB

- Pressure switch: PS-11

- Pressure gauge : PG-35K

Minimum setting conditions | &/ \:&ExMH

I B RIR(ELLE R

1~ 10sec About 2min or more
11 ~ 30sec About 3min or more
31~ 60sec About 5min or more
61 ~ 99sec About 10min or more

As this pump generates high heat from the motor during
operation, you must set a sufficient Interval Time (intermittent
stop time) according to the table on the left. If the interval time
is short compared to the discharge time, high heat is generated
in the motor, and the motor is automatically stopped by the
safety device installed inside. However, when the heat cools, it
resumes normal operation.

AR TN EEGRICE—Z— D oA THET S

e, EORICE>THD A > 2—/NILERE (BXEEE
) ZRETIHELHOD ET, HHEERICHARTr 22—/
IWEBENMEVWE, E—2— IR REL. REBICRESNT
ZERBICLDE—Z—DBBNITELELEFY, 7L, 2D
BRBEBEOBEICRD 9,

Wiring diagram | 23X

L1]2]3]4]5]6]7]8]a]10]

Lo

(M) WL RN PRESSIRE EARM
N S S/W S/




MONITORING CONTROL TYPE

AMGP-200NS Series | Monitoring control type

AMGP - 200NS - TO3 - 110
® @ ® @

(D ARYUNG Motor Gear pump
@ Pump classification / R > 748

(3 Tank capacity / 2> 758 (0)
T03:3.08, T06:6.0¢

@ Voltage / B (V)

v~ AMGP-200NS series lubrication pump is an intermittent oil supply metering pump and is used in combination with a
metering valve (ARD-340,350. PVO type).

AMGP-200NS> L) —XHBR > F3BIAa A8 R > T TH D 5T8/VLT (ARD-340350, PVOZ1 ) CHEAEDE TERLE T,
v~ ltis easy to identify if there is an abnormality in the pump because it has a built-in oil level detection device and a pressure

switch, and there is a terminal that can connect the signal of this switch to the control device on the machine side so that it
can be monitored by an external control device.

HEBRHEBEC AR v FeRE L. AMEOFHHEEICC DR 1 v FOESEER C S 2MAIE ICHRTHH 57 RV I
EEDBROWHIERICHRI TS E T

v~ Since the feed button switch is built in the front of the pump, it is easy to remove air from the pipe after initial piping, and
manual lubrication is possible using this button.
ROTREICT A —RREZYRA v FEREL TV S e, PEREROREDNSDETREINBER T, FENTEN T,

v~ This pump is an intermittent pump and should not be operated continuously.
CORYTFERAR TTHO. EFOEE LBV T LT,

v~ Applications are widely used in machine tools, printing machines, food machines, injection machines, presses, and various
industries.

TV a v TR, BRI, RREm. STHEIH. TR BLUTETEBERTLERINTVED

’
PUMP SPEC
Type Discharge| Working | Pressure | Reservoir| Viscosity | Outlet Phase 1@, Poles 2P
B volume | pressure |range i Rated Current
MiE | EREN |EDEE |22 E= [ kg |Output voltage T/ A
e L (MR e /W | BRI Hz| BE |V
200 ) 50 100/200  46/2.1
200NS-TO3 —— 20 08~25 3.0 30~1000 1/4"(26) 54 42
240 60 110/220  5.0/1.8
200 . 50  100/200  46/21
200NS-TO6 —— 20 08~25 6.0 30~1000 1/4"(@6) 58 42

240 60 110/220  5.0/1.8




OIL LUBRICATION PUMPS ()

Appearance | S\# Apply | &
AMGP-200NS-T03 - Fluid: Oils R AL
- Recommended oil: CHERATIL
—e o Winter — 32¢St or less K—32cSt AR
T Summer — 68cSt or less E—68cSt LU
- Material - B
Case: Aluminum TR LTI
e Cover: Plastic IN—= 1 TZRFvY
oz Tank: Plastic B0 TIRF VY
: i Gear Pump: Steel FTPTRYT I ZF=I)
" Shaft Guide: Aluminum SeT AR TLIZYL
(Built-in Relief Valve) (| ) =7 /NL7)
- Operating temperature: - {ERBE : 80°CIUF
AMGP-200NS-T06 80°C or less HEAE L EER
e *:w?] . m - Lubrication method: - HIEEE L (BETR)
1 I quantitative formula LARIVAALYF L FS-AB
E « Control method: EARAYF I PS1L
g4 None (Monitoring) - [E/I5t D PG-35K
i EN - Level switch | FS-AB
e - ’L g

- Pressure switch : PS-11

(215)

g - Pressure gauge : PG-35K

Circuit diagram | ElE Minimum setting conditions | &/)\s&EsM
e N sl Rt R IR {FLERSR

|_ 5—| 1~ 10sec About 2min or more

i i 11 ~ 30sec About 3min or more

i : 31 ~ 60sec About 5min or more

! { ! 61 ~ 99sec About 10min or more

IR

As this pump generates high heat from the motor during

Wiring diagram | BREX operation, you must set a sufficient Interval Time (intermittent

stop time) according to the table on the left. If the interval time

-

1N
)

8 10 is short compared to the discharge time, high heat is generated
L in the motor, and the motor is automatically stopped by the

[1]2]3]4]5]6]7

safety device installed inside. However, when the heat cools, it

. resumes normal operation.

e U — Ry FGBERICE—2—h DS SION
l/;\: AL ™ PRESSURE. EARTH 215/‘]’/76;;5@734” t & NOREBEHLET H1H. EDXK
N S S/ S/N I TR B 2 —/N)LESE (X

RIEERE) ZREIBHENDHD &9, MHHFFEICERTT Y
2= NILEEIEVNE. E—2—ICERRNEEL. AEICKRE
TNIERREBICEIDE—X—DEFNIFELELES,
L. BB R 2 CBEOEFEICRD £,




MONITORING CONTROL TYPE

AMGP-01N/0O2N Series | Monitoring control type

v

v

v

v

AMGP - 3M2 - OIN - TO3 - TY - S
® @ ® @ 6 e

(D ARYUNG Motor Gear pump ® Attachment method / BXD {F14 7574
@ Power /| BB TY : Wall mounting / BEER D {51+
3M2 1 39, 220V, 50/60Hz TZ - Floor mounting / FRE S
3M3 3@, 380V, 50/60Hz ® Pressure switch (optional) /
3M4 1 3@, 440V, 50/60Hz FEHZXAvF (AT 3>)
® Pump classification / K> 79048
0IN, 02N

@ Tank capacity / 2 > 7B (0)
T03:3.08, T06:6.00
T12:12.08, T20:20.00

AMGP-01N, 02N series lubrication pumps are high-precision, high-flow pumps specially designed to lubricate a fixed amount
of lubricant to each machine element. Depending on the application, it is used as a proportional type or in combination with
a quantitative valve (ARD-340,350. PVO type) as a quantitative pump. (When using in a fixed-quantity type, a pressure relief
valve must be attached.)

AMGP-0IN. 02N —XDEER > 7Id. EWMERIC—EEOEERZ BB T 5 L S IFRICET TN ERE. BREDR
V7T, ARICIGCT WA Te LT FREEER YT LTEE/NILT (ARD-340,350, PVOZ 1 ) LHEABHET
FRALET. (EEXCTTERTIHEIE. FAVU—TNILITZBRDFT2HELHD £, )

A built-in relief valve enables pressure adjustment, and it is easy to configure a lubrication unit by assembling it with a tank.
U= NI ZRBLTED. EIEEEN AT, 220 AT 3 e TEEIZ Y FOBRNBS T,

This pump is an intermittent pump and should not be operated continuously.

CORYTEERAR Y TTHO. FEBE L AVTTL

Applications are widely used in machine tools, printing machines, food machines, injection machines, presses, and various
industries.

TV avid TR, IR, EREm. STHEIH. 7L R BRUTEEEBERTLIERINTVED

PUMP SPEC’

OIN

Discharge | Working | Pressure | Viscosity |Outlet Phase 39, Poles 4P

volume |pressure |range MO Motor Fre- Rated Current
HiE |(EREH | EHEE PT Output [quency | voltage T/ A
cc/min | MPa MPa Hh/w JELEZ#/HZ BE/V

. 200/380/415  027/0.17/013
———— 20  08~20 30~500 1/8"(@6)
100 60 200/380/440  024/0.14/0.12

02N

170 ) 50 200/380/415  027/0.17/0.13
———— 20  08~20 30~1000 1/8'(26) 25
200 60 200/380/440  024/0.14/0.12




OIL LUBRICATION PUMPS ()

Appearance | 5\

AMGP-01N/02N
.
o @ @ @ =1
l 4—G- HOLES é}a e
~ _ | —
3 : 4
J | e
52 W1
el:r T @ g;r @
A ]
B D ©
c !
Net
e e e e e e B
E=/Kg
01N-TO3 280 300 320 290 135 150 9.5x14.5 24 160 74
01N-TO6 300 320 346 310 195 210 9.5x14.5 24 160 8.1
01N-T12 363 386 416 373 234 240 11x 16 24 160 9.8
01N-T20 470 500 520 480 317 322 12x17 29 160 15.0
02N-T03 280 300 320 290 136 145 9.5x14.5 24 160 14
02N-T06 300 320 346 310 195 210 9.5x14.5 24 160 8.1
02N-T12 363 386 416 373 234 240 17x 16 24 160 9.8
02N-T20 470 500 520 480 317 322 12x17 29 160 15.0
Apply | &R Circuit diagram Wiring diagram
+ Fluid: Oils RAE AL | [E1E%E | BCHRIX
» Recommended oil: ERAAIL
Winter — 32cSt or less R3S Proportional expression / tEFIzt 01N/ 02N-S Type
Summer — 68cSt or less  E—68cSIUAT o 1123|4567
- Material <&M L 5—| L\l Ll
Motor frame: Aluminum E—H—TL—L:ITILI L '
Gear Pump: Steel XFRYT I ZF-) | Fé-%T PRESS%RE
Tank & Top: Steel BT & by ZAF=)L |
Ol level gauge: Plastic (PC) A ILLAILF— - T3 | OIN/O2NType
Relief valve: aluminum TS52F v (PO 1 213 4|5
(ALDC) DyY—=2,NL7
- Operating temperature : 7ILT=ZY L (ALDC) l
80°C or less EREME © 80°CLL T Fé‘%T
 Lubrication method : SERAE | B2/ AR
quantitative / proportional + LRJILZA wF : FS-A
« Level switch : FS-A ERARAYF AT a3y

- Pressure switch  optional - E/35t : PG-35K
* Pressure gauge : PG-35K




MONITORING CONTROL TYPE

AMGP-03/05 Series | Monitoring control type

AMGP - 3M2 - 03 -T03 -TY S
® @ & @ 6 ©

(D ARYUNG Motor Gear pump @ Tank capacity / 2 >V B& (0)

@ power / BB T03:3.02, T06:6.00
3M2 2 3@, 220V, 50/60Hz T12:12.08, T20:20.02
3M3: 3@, 380V, 50/60Hz ® Attachment method / XD 15 757%
3M4 : 3@, 440V, 50/60Hz TY : Wall mounting / BEER D {51+

® Pump classification / #&> > TZ:Floor mounting / RES

S8 ® Pressure switch (optional) / £/ R
03,05 vF (FFvay)

v~ AMGP- 03 and 05 series lubrication pumps are high-precision, high-flow pumps specially designed to lubricate a fixed
amount of lubricant to each machine element. Depending on the application, it is used as a proportional type or in
combination with a quantitative valve (ARD-340,350. PVO type) as a quantitative pump.
(When using in a fixed-quantity type, a pressure relief valve must be attached.)
AMGP-038 £ U052 U =X DREHER > Fd. EMMERIC—EEOEEAIZHEY 2 £ D ICEICEA TN ERE. BREDR
V7T, BRICELT HAlZ1 T LT FREEER T LTEZ/VLT (ARD-340,350, PVOZ 1) CiAEHE T
FRALEY. (EE21TTEATZHEE. EAVU—TNILITEZERD[MIT2HELNHD £, )

v~ Abuilt-in relief valve enables pressure adjustment, and it is easy to configure a lubrication unit by assembling it with a tank.
D=7 NI ZRELTED. ENFEDNTET. 227 LBAMIT2 I THELIZ Y FOBRHIBZ T,

v~ This pump is an intermittent pump and should not be operated continuously.
CORYTIFERRTTHO EFEELL AV TTL

v~ Applications are widely used in machine tools, printing machines, food machines, injection machines, presses, and various
industrial machines

TTVT—oavid TIFEm. EIRI. Emii. STHMIHE. 7L 8LUTETFLEERMTLIERINTVED,

’
PUMP SPEC
Discharge | Working | Pressure | Viscosity |Outlet Phase 30, Poles 4P
volume | pressure |range O Motor Fre- Rated Current
g |EREH |EHER PT Output  [quency | voltage 7/ A
cc/min | MPa MPa Hh/W | RiESR/MHz | BE/V
250 ' 200/380/415 0.54/0.31/0.27
03 s — 20 0.8~25 30~1000 1/8"(@6)
300 60 200/380/440 0.6/0.35/0.3
420 . 50 200/380/415 0.54/0.31/0.27
05 s — 20 0.8~25 30~1000 1/8"(@6) 50

500 60 200/380/440 0.6/0.35/0.3




Appearance | 5\

OIL LUBRICATION PUMPS ()

AMGP-03/05
1.7
‘,A‘ K —T— E =|=a @
4-G HOLES <+
g f
s |
-~ 4
| | I £ I @
A ( J
QB‘ N . ,@, ? ,@,
. =
B D

-

C
300 320 290 135 150

(25)

Net
J weight
Kg
24 160 9.6

03-T03 280 9.5x14.5
03-T06 300 320 346 310 195 210 9.5x14.5 24 160 11
03-T12 363 386 416 373 234 240 11x16 24 160 13
03-T20 470 500 520 484 317 322 12x17 29 160 17
05-T03 280 300 320 290 135 150 9.5x14.5 24 160 9.6
05-T06 300 320 346 310 195 210 9.5x14.5 24 160 11
05-T12 363 386 416 373 234 240 11x16 24 160 13
05-T20 470 500 520 484 317 322 12x17 29 160 17
Apply | EH Circuit diagram Wiring diagram
+ Fluid : Olls K AL | [ElR&E | BoHRE
+ Recommended ol AL Proportional expression / thfI=,  03/05-S Type
Winter — 32cSt or less R3S
Summer — 68cSt or less F-68cSAT , OUTLET 1(2|3|4(5]|6(7
- Material - &t [ e _"_?'_EP _$‘| L\l L\l
Motor frame : Aluminum E—4—TL—L:T7ILS | I ‘
Gear Pump : Steel FTRYT I ZF=)L l i BI Fé(/)‘?vT PRESS;\lr]JRE
Tank & Top - Steel BT & YT AF—I l L l
Oil level gauge Plastic (PQ) A ILLAILS— - Lo @ _mx] 03/05Type
Relief valve : aluminum (ALDC) 752X F v (PC) 1 2 | 3

- Operating temperature :
80°Corless

- Lubrication method :
quantitative / proportional

- Level switch : FS-A

* Pressure switch : optional

* Pressure gauge : PG-35K

=27
)L =L (ALDC)

ERREE 1 80°CIU T
SEBAE L EEM/LAR
LRILZAYF DFSA
EARAYF A T3y
- EH5t : PG-35K

4|5
[ |
FLOAT
S/W




MONITORING CONTROL TYPE

AMGP-03C/05C Series | Digital controller type

® @

(@ ARYUNG Motor Gear pump

@ Power / &R
3M2 : 3@, 220V, 50/60Hz
3M3: 3@, 380V, 50/60Hz
3M4 : 3@, 440V, 50/60Hz

AMGP - 3M2 - 03C - TO6 - TY S
® @ 6 ©

@ Tank capacity / 2 > VB (0)

T06: 6.02

T12:12.08, T20:20.0¢
® Attachment method / XD 177534
TY : Wall mounting / 2B D {31+

® Pump classification / #> 7  TZ:Floor mounting / FRi& &
Ak ® Pressure switch (optional) / EF 21

03C, 05C vF (T2 3Y)

v~ AMGP - 03C, 05C series lubrication pumps are high-precision, high-flow pumps specially designed to lubricate a quantity of
lubricant to each machine element. Depending on the application, it is used as a proportional type or in combination with a
quantitative valve (ARD-340,350. PVO type) as a quantitative pump.
(When using in a fixed-quantity type, a pressure relief valve must be attached.)
AMGP-03C. 05C2 1) —XDREER> Fld. BEWIMERICKEORBRIZHEY 2 &£ S ICHHICHATNLSHE. BREDRY
TTY, RIS T, HAZ1 T LT F3EER YT LTEE/NILT (ARD-340,350, PVOX 1) CHEAEHE TE
RALEY, (EEXTTHEATIHEIE. BEAV )TN T 2RO EF288LAHD £7, )

v~ Built-in relief valve enables pressure adjustment, and it is easy to configure a lubrication unit by assembling it with a tank.
VU= NI ZRELTHE D, EFEENEIET. 2V LEAMTIT2 I THAIZ Y FOBRA B S T,

v~ This pump is an intermittent pump and should not be operated continuously.
CORYFIIERR L TTHD BB LBV TSV,

v~ Applications are widely used in machine tools, printing machines, food machines, injection machines, presses and various
industrial machines.

TITVT—oavide TIFEm. BRI, B, STHAIEE. 7L BLUTETILEERM CTLIERINTVED,

’
PUMP SPEC
Discharge |Working Pressure Outlet Phase 3@, Poles 4P
volume pressure | range HEO Motor Fre- Rated Current
i HHEEH |EHEE Output quency voltage T/ A
cc/min MPa MPa Hh/w | EESHz |BE/V
250 .
03C B — 20 08~25 30~ 1000 1/8"(6)
300 60 220 0.6
420 . 50 200 0.54
05C B — 20 08~25 30~ 1000 1/8"(6) 50

500 60 220 0.6




Appearance | A&

AMGP-03C/05C

OIL LUBRICATION PUMPS ()

T

=

-

Net
C J weight
Kg
320 346 310 195 210 24 160 11

o
4—gz HOLES
_ dh .
a1 2
4 - RVUNG : ™ w
- e L
S
=
:_.|'
& 5
| P, x ) 1 1
e
A —
R o £
T
"

03C-T06 300 9.5x14.5
03C-T12 363 386 416 373 234 240 11x16 24 160 13
03C-T20 470 500 520 484 317 322 12x17 29 160 17
05C-T06 300 320 346 310 195 210 9.5x14.5 24 160 11
05C-T12 363 386 416 373 234 240 11x16 24 160 13
05C-T20 470 500 520 484 317 322 12x17 29 160 17
Apply | & Circuit diagram Wiring diagram
* Fluid: Oils SHRIE AL | ElEE | EeREd
. \[::r(];?er:]jzr;:setdo?lless . ﬁsz'; iLI;( _F Proportional expression / Hrf= CGNNCTOR PLUG
Summer — 68cSt or less F68cStAR : i @ @ @ @
- Material - # |_ _"_?'_?;‘ _45_| @ @ @ @
Motor frame: Aluminum E—E—TL—L:TILI | P |
Gear Pump: Steel XTRYT L AF—IL | EL — E| @@@ - POWER
Tank & Top: Steel 8Oy T RF—)L ’ ] ‘ @ EARTH
L= m« % 1:RED 2:BLACK

Qil level gauge: Plastic (PC)
Relief valve:
aluminum (ALDC)
- Operating temperature:
80°C or less
- Lubrication method:
quantitative / proportional
- Level switch : FS-A
- Pressure switch : optional
* Pressure gauge : PG-35K

FANLANIT =D
TZ2F v (PO
DY—=oNIL7

TIL=E =L (ALDO)
-ERRE | 80°CLLTH
SEBAE L EE0/HEN
LRILZAYF D FSA
EARAYF A T3>
- EHE : PG-35K

3:WHITE 4:GREEN
CONNECTOR| ~ PLUG

ONONNONO

©6Q/|\Q Q@

D@ : OIL ALARM

(@@ Pressure S/W

X 1.RED 2:BLACK
3. WHITE 4:GREEN




MONITORING CONTROL TYPE

AMGP-053 Series | Monitoring control type

AMGP - 3M2 - 053 - TO6
® @ 6 @

(D ARYUNG Motor Gear pump 3 Pump classification / R > 7548
@ power/ & @ Tank capacity / 2>V RE (0)
3M2 3@, 220V, 50/60Hz T06:6.08

3M3: 3@, 380V, 50/60Hz
3M4 3@, 440V, 50/60Hz

v~ ltis an intermittent type lubricating oil pump operated by an external control device. It is suitable for the lubrication of
mechanical devices that require high pressure and large oil quantity due to the long distance of oil supply points and many
oil supply points. In addition, it can be used in combination with fixed distribution valves (ARD Series, PVO Series).
NECHIEEEE TIEEN T 2 ARUEEHR > 7T, REMAR HEEMNZV . BF - KEDHEMNE L T 5HiEE
BOBBICELTWET, Fi. BESA ARDVU—X PVOT U —X) COHBHREET T,

v~ Abuilt-in relief valve makes it easy to control pressure, and because it has an oil level detection device, external monitoring is
possible.
DU=TNILTZRBLTED. ENFHILEZ T, HERMEEZBH L TV 3 7cs. HEEEIRN PIEET T,

v This pump is an intermittent pump and should not be operated continuously.
CORYTIIERA Y TTHD. BEEEE LAV T RT W
Applications are widely used in machine tools, printing machines, food machines, injection machines, presses, and various
industrial machines.

4 TV —avid. TIE#m. IR, BRm. SR, 7L LU EIEAEERMTLERINTVED

PUMP SPEC’

Phase 3@, Poles 4P

Type Outlet

&I volume | pressure MO Motor Fre- Rated Current
ﬂiﬂii HEED PT Output quency voltage 7/ A
cc/min | MPa A/ w JEI,&&/Hz EE/V

Discharge | Working [ Pressure | Viscosity

(220)

420 M14x1.5p : Standard 200/380/415  0.79/0.43/0.39
053 - 2.8 08~30 20~1000 .
500 (PT 1/4“: Option ) 60 220/380/440  0.63/0.37/0.39
Appearance | & Circuit diagram | EEE
- - , OUTLET
ﬁ‘ * @ 2 @\% F 12‘713 1o, Venting Volue\_&\
2 - - - wgwlA‘d’
V:‘::‘j :Z:: N\ L “ T Relief Valve—|
itch N\ 2 o panag Q
e » \\i\r 4 = B =5 = Fiout‘Swltch
et SR S RE NI o —
. m s08 [ 1 8 | T
i Qut—let - i } @
= I




709 O
MANUAL TYPE UBROATION U

ALP-8LF Series | Manual type

ALP - 8 LF - L
®© @6 @
(D ARYUNG Lever pump ® Pump classification / R > 7948
@ Discharge flow / It iH/t& @ Outlet direction / O™
L: Left/ 7%
R:Right/ A

D :Double/ @AM

v~ Asamanual lever pump, it is easy to use and a check valve is built in to prevent backflow.

FEFLN=RO T LTHEVR T WREEROHIERZRNEL TVET,

Due to its small size and lightweight, it is easy to select the installation location, and lubrication to 20 to 40
v~ locations is possible.

NUREWNIC L D REZOEENBDZ T 20~40EFTOEHN IR T T,

Applications are widely applied to various industrial machines such as general-purpose machine tools, textile
v machines, printing machines, and injection machines.

BRI NI IER. Erin. IR, FERRLS . SESEAEEMMICLCBRTNTVED

PUMP SPEC’

Discharge Max' Pressure | Supply Reservoir iscosi Net Weight
volume = Capacity

ALP-8LF 8 15 1~40 400 30~ 1300 1/8" 14
Appearance | S\ Apply | &P
(115) i - Fluid : Oils SR LA
100 _ ) .
o8z | - Recommended oil : CHERATIL
' Ly ‘ Winter — 32cSt or less ~ &—32cStATF
- : Summer — 68cSt or less  E—68cSATT
T @] u '
- Material - BM
e - . f Tank : Aluminum 220 LTIV
F R B BV X : i ) .
&:‘?‘ | OUTLET \ . Oil level gauge Zt/r)lz\l//\)l/
= ,@ S -_ _}:"I‘Ox'I.Op : Plastic (PC) T=
| "\ 4-67 HOLES Q' 1 - Lubrication method: ~ 7ZXF w2 (PQ)
e »: proportional EMAE L HE

- VEEW t:Au




MANUAL TYPE

ALP-7LH Series | Manual type

ALP -7 LH - B
® @6 ®
(D ARYUNG Lever pump

@ Discharge flow / &
3 Pump classification / R> 7948
@ Handle direction / /\> RILAH
L: Left/f
R:Right/A

v~ Asamanual lever pump, it is easy to use and a check valve is built in to prevent backflow.
FELN=RY T LTHEVRT < WREIERAOHIERZARL TVET,

¥~ The discharge amount can be adjusted and lubrication to 20~40 locations is possible.
HHEDOFENATRET. 20~40E DB AIEET To

v~ Applications are widely applied to various industrial machines such as general-purpose machine tools, textile machines,
printing machines, and injection machines.
BRI NBIIER. S, IR, FERERL . SEIEAEERMICACERINTVED

’
PUMP SPEC
Type Discharge Max' Pressure | Supply Reservoir
B volume Capacity Capacity
e #aIHEFR
cc/st Point
053
Appearance | & Apply | &
- Fluid : Oils BRI AL
%"A" - Recommended oil: CHERAAI
atayet it .‘ od;_E:?.?;i‘ ;::. ’ - —z :;795)_ , o Winter— 32cStor less Z—32cSAT
3-07 HOLES | o S Summer— 68cStor less B68cStATF
B < B - Material - BM
3 ' o 2 EE Tank : Plastic 27N
2 B ?"u - Top : Steel TSRAF VY
i - Lubrication method : £ : i
| | | proportional SEHBAE

B



709 O
DISTRIBUTOR UBROATION U

DB Series | Proportional Distributor
DB - 4 M

(@ Distribution / D ECA%%

@ Screw Standard /= o1&
M M8xL.0p

PT:PT 1/8"

v~ DB typeis a proportional distribution valve and is used in
combination with a resistance pump. EiE ZEE fEREN
DB 1 3B EFA T, EIR Y TeHEAEDE TERLE Y
~ Itis used in combination with a flow unit, check valve, etc. There
are 3 to 10 ports for each number of pipes.

TJO-a2=w k. FTYINLTEBREOETERALET, DB-%PT PT1/8" PT 1/8" 0.8 MPa
BEH T CIS3~10EDFR— hhB D £,

DB-3%M M8 X 1.0p M8 X 10p 0.8 MPa

T
“““-“——n“- £

DB-3M 3 M8X1.0p 235 3 1
DB-4M 4 16 36 48 M8X1.0p 11 28 13 4 2 65
DB-5M 5 32 52 o4 M8X1.0p 11 28 13 5 2 82
DB-6M 6 48 68 80 M8X1.0p 11 28 13 6 2 102
DB-TM 7 64 84 96 M8X1.0p 11 28 13 7 2 123
DB-8M 8 80 100 112 M8X1.0p 11 28 13 8 2 145
DB-10M 10 112 132 144 M8 X l.Op 11 28 13 10 2 186
-m__ Net
DB-3PT 3 PT 1/8" 235 3 1
DB-4PT 4 16 36 48 PT 1/8" 11 28 13 4 2 65
DB-5PT 5 32 52 64 PT 1/8" 11 28 13 5 2 82
DB-6PT 6 48 68 80 PT 1/8" 11 28 13 6 2 102
DB-7PT 7 64 84 96 PT 1/8" 11 28 13 7 2 123
DB-8PT 8 80 100 112 PT 1/8" 11 28 13 8 2 145
DB-10PT 10 112 132 144 PT 1/8" 11 28 13 10 2 186
Appearance | A& Example of use | A4

16 NI-#6.5 HOLES -

' — VIEW "A”




PROPORTIONAL VALVE

Flow unit - AJB, ASA | Proportional Valve

AJB - 0
® @

(@ Unit classification / 1= ~9H4%8
AJB, ASA
@ Classification code / 9¥83— R

v~ The flow unit is a proportional distributor, and there are two types: AJB type that can be used in combination with DB type
distribution valve and ASA type that is assembled at the oil supply point on the machine side.
JO-32Zw MIHAIDEERTH D DB LA L BAEHE THER TS 2AIBE & B AIDIGRERTICHEA T SN BASARLD
v EENHDET,
Lubrication is carried out in proportion to the classification number, and the proportional amount increases as the number
increases.
v RN EESICHAIL TIThN., DEESIIBR 3 CAIENIER 9,
The direction of fluid flow is marked and there is a built-in check valve to prevent reverse flow.
REDRNDOAANY =7 SNTHED. WRZHSIDDF Ty T THHEHAENTVET,

Appearance | 5\

AJB Series Type Code No. Flow rate Using pressure| Viscosity
_ HEx 10 DEES :m.E$ EHRED FEEE
A 0 Wl O MPa cSt

L AJB-03 0.15~2.0 20~ 500
NET Ja Tl 4 I o oumer AJB-02 0.15~20 20 ~ 500
~=ga 1] (8] R AJB-0 o 5 0.15~20 20~ 500
T {1} k AJB-1 1 10 0.15~20 20~ 500
a3l 8 8 | 28 AJB-2 2 20 0.15~20 20~ 500
- M e Tl 15 AJB-3 3 40 0.15~20 20~ 500
: (84 . AJB-4 4 80 0.15~20 20~ 500
AJB-5 5 160 0.15~20 20~ 500

ASA Series Type Code No. Flow rate Using pressure| Viscosity

WBx1 O HEX 10 o g PEEES gll.§$ EREH HhE
el % MPa cSt

ASA-03 12 0.15~2.0 20~ 500
—t ' ASA-02 oz 25 0.15~2.0 20 ~ 500
neT 4T B I | OTET asa 0 5 01520 20~ 500
= B ASA-1 1 10 0.15~20 20 ~ 500
) 1. = ASA-2 2 20 0.15~20 20~ 500
25 | | B ASA-3 3 40 0.15~20 20~ 500
105 |7 | 8 _ ASA-4 4 80 0.15~20 20~ 500
- (25.5) a ASA-5 5 160 0.15~20 20~ 500

Example of use | /A%l

Before installing this system, check and
handle carefully the direction of oil flow.

CDYRTLERET BHHIIC. F1ILDRN
0)7'5@7&/15% < EEDIL;\ L/—CHRD %&O—C rea
W




MEASURING DISTRIBUTOR

PVO Series | Measuring Distributor
l '
v~ PVO Quantitative Valve is a valve designed to be used in an

intermittent oil supply system. It is a fixed quantity lubricating valve
designed to improve and supply lubricating oil of fixed quantity by

piston operation.

PVO

-3 M
® @

D Flowcode/ 7O—a—R
@ Screw standard / =i

PT @ PT 1/8"
M8 M8x1.0p
M10:M10x1.0p

PVOREE/NIL 713, B aiaims X7 A THRAY 2720 ICHRE

INFNILT T,

Appearance | S\

(E)

HEX 12

L

(A)

Working structure | fegsgs

=
]

Before venting
(Starting pump)
2 D2 Y- i e
GEENR>7)

EX N ARMEICED—EEDOEEHTHE - #t
B9 BIDIRET SN EEBBERTY,

v

precision lubrication systems.
R, KA AT LSEL TWED,

with the DB type distribution valve.
SRTLERER Y BBIE. DB A TOREA CHEAE

DETERALTIRES L,

OIL LUBRICATION PUMPS ()

v~ Due to the small flow error range, it is suitable for

When configuring the system, use it in combination

Volume Discharge |Using ;
code No. [volume pressure ESlECTpip
AEI—F (MHHE fERESD (A) ()
cc/st MPa
PVO-3 3 0.03 08~3.0 44.5
PVO-5 5 0.05 08~3.0 44.5
PVO-10 10 0.1 0.8~30 445 PT 1/8"
PVO-20 20 0.2 08~3.0 53.5 M8 X 1.0P M8 X 1.0P
PVO-30 30 03 08~3.0 535 M10 X 1.0P
PVO-40 40 04 08~3.0 65.0
PVO-50 50 05 08~3.0 65.0
Example of use [ &R6
P —.? ' : /\
A | |
AL |
Y x
BTN
t‘ 3 A§ |
o ii ] - \
-8 ] - \
A N
n{n
T \ N
SEN
4
Venting Measuring
(Operating pump) (Stopping pump)

N (1FER > 7)

AE (BIER>T)




MEASURING DISTRIBUTOR

ARD-340/350 Series | Measuring Distributor

ARD - 35 3 - 335
© @

@ division / 2| @ Distribution / D BCA%K
34 340 series 2,3,5
35350 series @ Flowcode/ 7O—O—R

v~ ARD-340, 350 fixed-quantity valves are valves designed to be used in intermittent oil supply systems. They are fixed-quantity
lubrication valves designed to improve and lubricate fixed-quantity lubricating oil by piston operation.
ARD-340. 350BIEE/NIL T WA 1 UGS AT ATHERT 5 LD ICHREFTINI/NILT T, cnbld. EX BIARE
ICE > T—EEOHBHZAES FUBBT 5L S ICHRFTINIEEEDEE/NILTTY,

v~ Due to the small flow error range, it is suitable for precision lubrication system configuration.
MERESENEN o, BB X T LOERISELTVET,

HE  [padaree |Usmepressnl  gorotpipe e, | vaharee
AEOE MPa Central pipe | Branchpipe | &= J—-KrES HiE
e
ARD-342 2 08~30 M10X 1.0p M8 1.0p 115 1 003
ARD-343 3 08~30 M10X 1.0p M8 1.0p 163 ; 8(1)3
ARD-345 5 0.8~30 M10X 1.0p M8 1.0p 249 4 016
ARD-352 2 0.8~30 M10X1.0p M8X 1.0p 239 3 01
ARD-353 3 0.8~30 M10X 1.0p M8 1.0p 314 Z 8421
ARD-355 5 08~30 M10X 1.0p M8 1.0p 464 7 06

Order example | 53¢

Dischsarge volume
When ordering 5 holes of the right flow code from "i;'ftg 0.10 | 0.03
¢
2 2 3 1 1

ARD-340 type p——
ARD-3404% 1 IO BIEELWVW I O—J— RDO5SAEEY rder code

9356, Order No. ARD-345-22311

Working structure | szistiy

In release of main line
pressure, the piston in
the distributor returns
to its initial position,
allowing the oil to flow
into the space in front
of it.

When the control
lubrication pump
begins feeding oil,
the piston is moving,

The oil allocated for
the lubrication point is
in front of the piston in
distributor.

HERA Y MMIEID Y
THneFrILE 7
A ARMJE2—2—D
EXb2ORNICHD &
ER

the oil in front is
delivered by main line
pressure(8~30bar) to
the lubrication point.

FIEEER > THEH
ZHBT S ERX N

XA ZA4YDEIH
BRI nde. 714X
- RMJEa—HE—0DEX
VhHEE. BiDA AL AU EICR
KA YT VED D, F1ILDEDRID

(8~30bar) THEBAR =R TTHAAE T,
1Y MIESENET,




Appearance | A&

ARD-340 Series

OIL LUBRICATION PUMPS ()

o Jele]=]e]w]
HEX 12
342 48 24 - 17 1

— 343 65 325 17 34 2

345 99 495 51 68 2

41.5

i] . MEx1Op
7
-
. L]
Y 3
_Fm;rﬂx -
2-utm 0p / é
B
A
ARD-350 Series
] MEix1.Op
17 | I
T
) :
NN
-6 [ |
! | | 2
Nen'sr'sy =
1. |
2—u1m.u1:/ B \_#7_HoLE B
A
Example of use [ =%l
ARD-340 Series

e
& |5
16.5
RN ENEN
352 45 22.5 17
I 353 62 31 34
! 355 95 475 68
E
!
2

IR

20
ARD-350 Series




209 O
OIL MIST LUBRICATION (aR-oiLMisT) BRI P

AOML-3000 Series | 0il Mist lubrication

AOML - 3000 C - 220
® @ & @

() ARYUNG Oil Mist Lubrication @ controller @ Voltage / BE
@ Tank capacity/ 2> o8 /A¥bO=3

No mark : None / % L

C: Mounting / #&

v~ AOML-3000 type oil mist does not include a separate pump and is a spray system that sprays oil or coolant through a nozzle
jet using air pressure.
AOML-30004 1 DA A NI ZA MEL I LTARY T2 E S ZREEZBRAL T/ ANy MBS FAINELIFI—F 2k
HATL—FBRTL—XTLTY,

v~ AOML-3000C type is a system with a built-in digital control device, and the discharge time can be set easily.
AOML-3000C% 1 Zld. 7V ZILEIEBZ AR L o> AT LT HHEEZEEICHETTE

v~ The main application is effective in lubrication of chain, gear, trolley conveyer of various mechanical devices, and is widely
used for press mold, roll feeder, and releasing agent coating of the injection machine.
FBAIE. SBEREBOF >0 F7 FOU-IYRVY—OEBICENTHO. TLARE, O—-ILT7r—4— T
PR DBERA O — T« VIR BAINTVE D

v~ ltis also suitable for lubrication and cooling when cutting machine tools such as tapping and drilling machines.
By I RR— VBB O TRz Tk 2 BROEEPAEICHBEL TVET,

A earance | NFZE Working Reservoir Voltage | Controller |Net Weight
pp 7 Pressure. Capacity EE Qv rO-5 | ERKg
T ERE(RIN) (20088 v
wor L, SO 1 Mpa e
R e iy 3000 0.1~03 30 2~200  110/220 X 47
= Ig‘;{- I 3000C 01~03 3.0 2~200 110/220 Built-in 6.0
[ B ] === 1]
T 3 % Caution
=
“a If the air pressure is too high, the tank may be damaged, so keep it below the
i il operating pressure.
[ = w ERENBITT DI UHET 2ENAHD £TO T, FHEESIATICLTIET LY,
- hnape Nozzle Jet
0oL, EUTLET ()
- £ ) L -
Ba_ a0
I —t Ee
D s 1 PT 1,/8"(ask wET)
- LIE ] _ e ) D0, MLET)
2=95.5 HOLES
FLOW CONTROL WY
AL CAP ik STASRER o JRTER & AT ot
eame L m Type Standard Oil in-let Air in-let L1 Net Weight
vt :5_; i : s 8% (mm) |[F7)AQ0 |I7AO (mm) EEKg
o BT JET-250 250 04 26 250 153
] ' JET-300 300 @4 26 300 172
§ JET-400 400 @4 26 400 210

* Oil flow control is possible because the flow control valve is built-in.
70—y OV TERABLTWA S, AL T70—0Y cO—ILHEEET Y,



OIL LUBRICATION PUMPS

@ Feed button @ Interval FND T

Panel, . @ Resetbutton (& Discharge FND :ﬂ ;‘ ( €
description 3 Mode button T e

CENTRALIZE) LUBRICA 0N é@:mﬁu’s

Digital Control system
MODE FEED REST

How to set the timer | BfEEES % - (@ 'T \Z

1) How to set 1) RERE (:5 é (15

MODE M : setting start, move, setting complete € : &;ii‘fﬁé BE. e
FEED A :Raise the value Z1—FAEELITS

Uty bV #ERST
REST W . Decrease the number 7 HER

A) If you press the Mode "l" button No. @) once, the value of the interval time blinks. At this time, if you press the “A” button
No. @, the value increases, and if you press the “¥” button No. @), the value decreases. When the desired interval time setting is
completed, press @ Mode "H" button once again, and the discharge time value blinks. Likewise, if you press W"A" button, the
value increases and @ "W button Press to decrease the value. When the desired discharge time setting is completed, press the
(3 Mode "l" button to exit the setting mode.

A E—F TR REZUNo@%1EHRY &, > 2—/NILEEOENRRLET, COLE. TA] REZUNo.OEHT LED
KRELHED, VW) REZUNo.QZRT LBAVNS KB D ET, FEDOA 2 —/NILEREERENTT LS. @F—F Tl R
225 —ERT . HHEEOENSRL £, BfRIC. O TA] REZVEHTENMEML. @ W) RE2>zifgfE
RO LET, FLOMERERENT S Lics. @F—F ) A2V THREE—RFERTLED

B) If there is no input within 10 seconds during the setting, the setting is regarded as completed and it is automatically converted
to the operating state.
B) RERICIOMLURICAIIN B WGE, REIRTT LIt AR n. BEMICEPREBICEEINE T,

C) Each time the "A", "W" button is pressed once, it increases or decreases by 1 value. If it is pressed continuously, it increases or
decreases continuously.
O TAy. TV REVZIEIRY NS, METDEREL £9, HLKIT2 o, EFRINICERL £,

2) RESET function

If the “RESET” button is pressed while the operation is in progress, the set initial operation state is restarted.
2) Uty SRR SEBIRHRIC TRESET) R > ZiRd L. RE L AEERRREICRD £ 95

3) FEED button function (manual lubrication)

If you press the “FEED” button while the operation is in progress, “FEED” is displayed on the display window, and oil is discharged
while pressing it regardless of the set time. It can be easily used when the initial piping is installed to remove air in the piping or
when manually refueling.

3) T —RARRKEE (FEiGH) EBETIC TFEED) RE > Zifd v RnAIC [FEED) AR TN. SERTREICERR RL
BHSFIIHBHE SN E T, FHIREZRE L CTIBENOZER ZIRIHEV. FHTHRET 35aICERICHERTIE R

Single jet circuit view Multiple jet circuit view
R ——C CiL_CAP j STRAMIR X i
WOTTLE JET E o —— ---‘31~_ . cﬂ:% _ AR LET

o

oL, HOSE




AIR-OIL LUBRICATION

AOL-4 Series | Air-Qil Lubrication

AOL - 4 - M5
® @ ®

(D ARYUNG Air Oil Lubrication
@ Pump classification / R > 748
3 Number of mixing valve holes / = %> > NIL T ADER

v~ Excellent lubrication and cooling effect of super high speed spindle bearing.
e TS OBNTOEE - AHARIR.

v~ Intermittent lubrication is automatically supplied by the built-in controller, and it is easy to detect and identify various

abnormalities in operation.
BREHITNE DY FO—5—IC& D BEMA TN, EEFOZBEB OB - #HEZ T

v~ The mixing valve that mixes and sprays air and oil is a fixed-quantity lubrication distribution valve and is very suitable for
system configuration of high-speed precision machinery.
ERUMERE L TEZFT5IF VNI —E20BERE/NNL T THD. SREFEEINO S 2T LERICIERICEL TV ET,

PUMP SPEC’

Discharge Discharge | Air Lubrication Ai

volume point Pressure Method in-let

s Rt O% ZRE peib=y ke ZE&SAO

cc/st (Air+0il) MPa

. . . N Measuring Digital PT 1/4" M8 X 1.0p

AOL 4 0.01 ~0.06 2~5 03~05 10~100 mEh =541 @8) (@4)
Appearance | S\ ZE Circuit diagram | EE&E

A

.. H

RO, % |
— 1

TV
e
:

Wiring diagram | E2#xX

r(FELECTR‘I C WRING Dl ﬂ.GRAM{‘\T‘

BT e [T STl
bW (s

LR PR FLAT 30 AIR S W
T X TR
AT DL S QIL R KB 5 AL
4] FELT (T Wi Ei )
BB HE 2 A - HaNY
FLEr 5

1: AIRZH WOTORTE HESO &3 A - Meapg
2 : MRS WOTORE B2l8M B3 M - TN




OIL LUBRICATION PUMPS \/

ARD-440 Series | Qil Mist Distributor

ARD - 44 3 - 223
®© @

@ Division / HE| @ Flowcode/ 7O—O—R

2 Distribution / 2 BC %%
2,3,4,5,6

v~ ARD-340, 350 fixed-quantity valves are valves designed to be used in intermittent oil supply systems. They are fixed-quantity
lubrication valves designed to measure and supply lubrication oil by piston operation.
ARD-340. 350BIEE/VL T 1d. Wkt 1 IMHES X T LATHERAT AL SIS IN/NLTTY, Chsld. EX M UERE
ICE > THBERZHES LUHIGT DL SICRTTNICEEEENIL T TY,

v~ Due to the small flow error range, it is suitable for precision lubrication systems.
MEREEN WO, BB AT LICBLTVWED,

oaia'se |Usingpressirel  gore ofpipe N EE
SEROE MPa Central pipe [ Branch pipe J—FES =
i
ARD-442 2 08~30 M10X 1.0p M8X 1.0p 115 1 0.03
ARD-443 3 08~30 M10X 1.0p M8X 1.0p 163 5 006
ARD-444 5 08~30 M10X 1.0p M8X 1.0p 249
ARD-445 2 08~30 M10X 1.0p M8X 1.0p 239 3 010
ARD-446 5 08~30 M10X 1.0p M8X 1.0p 464 4 0.16

Order example | ;371

When ordering 5 holes of the right flow code from ARD-440 type. [V e G T 1
_ o 0 EES 0.10 | 0.03 | 0.03
ARD-4402 4 THBIELWI O—O— ROSREFXT 2355,
2 3 1 1

Order code 2

Order No. ARD-445-22311

Appearance | AFE

6 Waas 1 Z Type Discharge
, SEOK
2 17 39 51

‘% —
% 2-96.5 HOLE 3. ARD~442
&1 1 1 14 = ARD-443 3 17 56 68
=| 8 L
E= B2 g— ARD-4£40 < INLET(AIR) @ | <& ARD-444 4 v 73 ziz
g g < INLET(OL) | : @_’ ARD-445 5 oo
&5 3 T o = .
|17_ '_&{lnllka) | 30 h
(6) Lt |_®




209 O
ACCESSORIES & FITTING UBROATION U

Oil Reservoir

1.82 : STANDARD TYPE

(160)

47 Type
E i i
i T1.8
A-RYUNG M 217
e ) Total Capacity

&

nEE 20t

; " Effective Capacity
| ' ENEE 18¢

1
YT ETT I 01A(F), 01M(F) 01S(F),

Voaly ¢ | i | ek BHTBZRT 0INS, 013(F), 015(F)

70
96
(110)

146
{154)

MAX
NN
at

®
®

W
azreed rurmcisst ameant

3.02 : STANDARD TYPE

(282)

-
o T i g $e7 T03

o - b b |
B .
' ' Total Capacity
Ki P [ I A— L BEE 4018
g

Effective Capacity

ARING Al 9% ! R 300
Inbretiac Siems ved sl et

s = - s Applicable pump IOV ICROLYI=IIEN
) a e i HHTBIRYT 025N, 025NS

3.02, 6.0 : AMGP-200NS

(243) 1155 1155

U
T
P
WRRCATION IYETEMY
-
wo — onnaT
- S i, i
e o o~
®

TY type

Type
447 T03 T06

Total Capacity

o BREE

ki Effective Capacity
EHEE

0

401¢ 700

302 6.0¢

238 142

&

235 217

210

Applicable pump
BHIBRT

. /& ﬁ__‘f%w * Material / #1&

¥ -, F Tank : Steel / 9
Oil level gauge * Plastic

200NS-TO3 | 200NS-T06

'

n

ﬂ-ﬂbl-

[
o1

Total Effective Standard
Capacity | Capacity ¢ J Applicable
BEE |EE pump
BRARVT
280 300 320 24 160 130 145 65 140

TO3-TY 5¢ 38 95x145

TO6-TY 8¢ 68 300 320 346 24 160 190 205 95 40 95x145 AMGP-01N, 02N

T12-TY 132 122 363 386 416 24 160 228 234 114 40 11x16 AMGP-03, 05

T20-TY 23¢ 208 470 500 520 29 160 310 315 155 40 12x17




OIL LUBRICATION PUMPS \/

TY type
Bobitixt. O PT 1/4" SOET g - Material / &
¥ y s 37 F Tank : Steel / 5
/ , & Oil level gauge : Plastic
4. & 4
| e
—r et &l
4=WBa1.0p G
Type Effective Standard
Bz Capacity | Capacity . I Applicable
BHBEE pump
BRART
T03-TZ 280 153 15 168 80 130 200 65 140
T06-Z 80 60 00 153 15 168 120 190 240 95 40  AMGP-OIN, 02N
T12-TZ 13¢ 128 383 153 15 168 160 228 280 114 40 AMGP-03, 05
T20-TZ 238 200 470 159 15 174 240 310 390 155 50
TZ1 type
- A ”
5 [ + Material / #4%
8 Tank : Steel / £
ik Qil level gauge : Plastic
o,
: i
Q M 3l 1 ‘ ‘ | {
Al 4-995 | E _!
|30 G | - F .
Type Total Capacity | Effective S EGE
B BRE Capacity Applicable pump
BMEHE BRARTS
T12-TZ1 138 128 363 163 228 303 AMGP-03, 05
T20-TZ1 2348 208 470 245 310 410 AMGP-03, 05
TZ2 type
r E - Material / #4&
o |1 i _
| Tank : Steel / 3
5 4 Oil level gauge : Plastic
o} 19 q]
o :E
I |
! I
30 G F

Type Total Effective Standard

B Capacity Capacity c Applic able pump
B G B e e o B
T40-TZ22 450 330 40 370 285 390 220 AMGP-03, 05
T60-TZ2 8¢ 18 600 280 50 330 375 540 310 AMGP-03, 05




ACCESSORIES & FITTING

Accessories

LINE FILTER ALF-8LF | 51> 7«1 )L2—

.40 _ _2-87 HOLES
25 .38
- PT 1/8" l 7
£5 i \ I
K','\'/( T (QUTLET) I o
'y ” %
P
== 1A e
la—\
- (®LINE FILTER @
il k T3]
o
[}
PT 1/8"
(OUTLET) i 4
@49 - (63)

#50

LINE FILTER ALF-4Y,6Y | S1>7«)L%—

- 42 T1

T2
16 (OUTLET)| qa35 (INLET)

S

FLOAT SWITCH | 70— F 2w F

L 11 FS-A A" Point of contoct

FS-8 -"B" Point of contact

5 B
=S
N (58)
{180)
J;
\
A\
\

| —_——
1| i
| FS-C -"C" Point of contact
{10
i L no
_ 11X CoM rr—
— o N
s >
825

1.82 . STANDARD TYPE | /5t

(26) _

o44

(62)

Type Pipe In-let [Out-let
Dia (T2) (T2)

ALF-8LF-4 a4 1 3.0 40 a4 24

ALF-8LF-6 a6 1 3.0 40 a6 26

Itis used to remove foreign substances in oil and extend machine life.
HADEMZIREL . WIMOF LT cHICERINE T,

Type Pipe Max Filter In-let Out-let
Dia pressure |pm (T1) (T2)
MPa
ALP-4Y @4 20 M8X1.0P MI10X1.0P
ALP-6Y @6 3.0 20 M8X1.0P MI10X1.0P

Type Max switching | Capacity of Normal
voltage Contact point
FS-A

AC250V 0.33A

DC200V 0.5A Open
AC250V 0.33A

FSB DC200V 0.5A Close
AC250V 0.25A

FS-C DC200V 0.3A Change-over

Type Appli-cable | Max Capacity of
pressure switching [ Contact
MPa voltage point

AC250V

_ +100
PS-1.5 0.15+10% DC3V 1.7A Open
AC250V
_ +100
PS-11 1.1£10% DC3V L7A Open

Type Pressure range
MPa(bar)

PG-35K 0~35(0-35)




Fitting

PLUG BOLT | 73Rl

T1

-—

pd2

£dl

L1

SLEEVE | X')—7

=
-

@d2
@#d1

—

-_—
-

e¢d2
@d1

—_

OIL LUBRICATION PUMPS \/

Type Pipe Material
IE

TA-4 M8X 1.0p 8 BsBD3

TA-6 26 6.1 4 7 13 M10X10p 10 BsBD3

N
Dia

TAD-4 M8 x 1.0p BsBD3

TAD-6 06 6.1

~
—
s
w

M10 x 1.0p 10 BsBD3

TAD-S4 04 41

&
N
o
N

M8 x 1.0p 8 SUM24L

TAD-S6 06 6.1

—
~
-
@

M10 x 1.0p 10 SUM24L

Type Pipe
Dia

AL-4 BsBD3

AL-6 76 4 58 10 BsBD3

Type Plpe
Dia

TB-4 BsBD3

TB-6 @6 6.1 8 17 5 BsBD3

Type Plpe
Dia

TBD-4 BsBD3

TBD-6 76 6.1 7 8 4 2 75 BsBD3




ACCESSORIES & FITTING

NIPPLE | =v 7~

T2

HEX L3

== -

NIPPLE | =v 7L

T2

T1

L4

w|
|

OL3

T1

G
Dia

TD4-1/8K1 PT1/8"  M8XL10p BsBD3
TD4-1/8K @4 10 8 18 PT1/8"  M8X10p 11 BsBD3
TD6-1/8K1 @6 10 8 18 PT1/8" M10X10p 12 BsBD3
TD6-1/8K @6 10 8 18 PT1/8" MIOX10p 14 BsBD3
TD6-12K @6 10 8 18 MI2X10p MIOX1O0p 14 BsBD3

N L
Dia

TD6-10 M10X10p  M10X1.0p 12 BsBD3

TD6-12 76 10 6 18 M12X10p  MI10X1.0p 17 BsBD3

N
Dia

TH4-1/8K1 PT1/8" M8X10p  BsBD3

TH6-1/8K1 @4 16 22 12 10 22 PT1/8" M10X10p  BsBD3

TS6-10K 76 18 242 14 11 25  MI10X10p MI10X10p  ZnDC
TS6-1/8K @6 18 242 14 11 25 PT1/8" M10X1.0p  ZnDC

M

T1-1/8K1 12 12 PT1/8" PT1/8" BsBD3

G
Dia

TC-4 14.5 235 PT1/8" M8X1.0p 10 BsBD3

TC-6 76 14 10 24 PT1/8" M10X10p 12 BsBD3




OIL LUBRICATION PUMPS \/

SEAL PLUG | >—ILT37

HEX T = s
1 TG-8 11 M8 x 1.0p 12 BsBD3
= TG-10 5 5 12 M10 x 1.0p 14 BsBD3
TG-12 5 6 13 M12 x 1.0p 17 BsBD3
L1 L2
L3

SEAL PLUG | >—ILT37

HEX . S e T S (=S
AN TG-1/8K 4 11 PT 1/8" 12 BsBD3
_r'__
L L2
L3

CUP-NUT | Ay 7+ vt

w O

ﬁ i TN-4 M8 x 1.0p 10 BsBD3
RN TN-6 g 61 12 6 5 13 MIOxl0p 12 BsBD3
o
=
1
HEX | L1 | 12
I L3 -
CONNECTOR | Oxo%
I IIEEE-
et RD-340 14 26 M10X 1.0p BsBD3
g ik
O

(Type __Jd1____ 1 [l2 [Tl Hex __[Material |

RD-350 4 36 M12x1.0p MI12X1.0p 12 BsBD3




ACCESSORIES & FITTING

TEE| 7 —
%65 HOLES | -—od1+ (Type [d1 11 J12[13 (14 [Tl |Material |
i : KD-4 14 30 85 95 235  MBX10p  ZnDC
! KD-6 14 30 85 95 235  MI0X10p  ZnDC

BANJO ADAPTOR | N\>P3—7HTFH2—

O
Dia
i

BAS4-8 @4 26 18 25 5 15 M8X1Op M8X1l0p M8X10p 12 BsBD3

LS

BAS6-10 @6 305 22 29 6 165 MI12X1.0p M10X10p MI10X10p 14 BsBD3

BANJO ADAPTOR | N>2 3 —74TF5—

i Type Pipe(L1 |L2 |L3 (L4 (L5 |T1 T2 T3 Material
13 T2 Dia

['¢3
- BAS4-10K @4 37 18 25 8 15 MIOX10p M8X10p M8X1Op 12 BsBD3

BAS6-12K @6 405 22 29 8 165 M12X1.0p M10X10p M10X1.0p 14 BsBD3

L1

BANJO ADAPTOR | N>23—T74T5—

HEX T2 Type Pipe |[L1 |L2 (L3 |L4 |L5 |T1
; Nl ’ . Dia

i—# 0| BA4-8 10 M8X10p M8X10p 12 BsBD3
b ' BA6-10 @6 255 22 29 6 115 MI10X10p M8X10p 14  BsBD3

BANJO ADAPTOR | N>P3—7HTFH2—

3 e
DIE]

BA4-10K 10 M10X10p M8X10p 12 BsBD3

BA4-1/8K @4 32 18 25 8 10 PT18" M8X10p 12 BsBD3

BA6-12K @ 355 22 29 8 115 MI12X10p MI10OX1l0p 14 BsBD3




Failure cause and countermeasure | #EER v 5

A\

\
=~

OIL
LUBRICATION PUMPS

Fault condition Cause  __________JIMeasures ______________________|

No operating sound

Short circuit of power supply,
poor connection

Check incoming wire short circuit, check the connection

Short circuit of fuse

Fuse replacement of the machine side control panel

Overcurrent protection device trip

Release of the overcurrent protection device of the control
panel on the machine side

Motor winding short circuit

Request a repair to the factory

Inability . Sufficient stop time setting, the normal operation when the
t Motor overheating
0 motor cools down.
rotate Lowering the oil level of the tank | Oil supplement
Voltage is low Check the rated voltage
Sticking due to bearing wear Bearing replacement, request repair to factory
With operation sound | stator and rotor contact Request a repair to the factory
Foreign matter jammed in the Forei
oreign matter removal
gear of the pump
Bad suction Check for clogged filters, air mixing, and clogged pipes
Lack of I(Drg\c/)grrszte;gg;ig;)the pump Two of the three-phase terminals are interchanged.
discharge Qil viscosity too high or too low | Maintain proper viscosity (30~1000 cSt)
Inexperienced valve setting Valve adjustment
Can be Pressure set low Relief valve adjustment
rotated Pressure drop

Leakage in piping and connection

Tighten distribution valves and pipe connections.

Noise.
Pressure irregularities.

Cavitation phenomenon
(Air mixing, filter clogged)

Oil level drop, suction pipe check, filter cleaning,
oil viscosity check

Irregular pump
behavior

Air entrainment

Oil level drop and suction pipe sealing inspection

Gear wear

Request a repair to the factory

HIERIE

BROER. ERTR

A>T BT Vv—fEgeFTvo L. #eFoy o LET

b1 —XDKEE HAID > FO—ILARILD E 2 —X33HE
ez | BERMRELBEDON ) v TR D HIFEAE DB B RREL B DR
E—H —BIRDITHE THICEERET S
EgETE T—2—DBH TARBIEERE. T2 -8R L TOEEOEE,
BV BUIDAAINLANILETFS | 41 IR
BENMEL EMBEFHERL T T
—— RTV) 2T DEFEIC & B EE AT )27 D TIBADIEIRRE
2AT—R—rO—32—DEH TIZIER =BT S
ROTOXETICEYHSEE > TV D | BYIFRE
e 21g§—®%§0\§m®ﬁé\A%j@ﬁio%?lv
e S| R TOEEAR GHOEE) ZHEBFDOS B2DIEHBINTVETD,
FAINDOHENBTIZMETI 2  BYIRMEZHERLET (30~1000 cSt)
INLTERE R NILTFEE
BEEIES EHET EOEECRE \ uui7@»%®%%t
LB L UERDRN DEENIVTENA THEGEFDE T,
BRERY, FyETF—>a kR FAINLNIUET. oo ay1IFTvo. T4 )L2—
FEJI75581, (BRRA. 71— D) | e FTIIEFT VY
Kﬁ%@ﬁy?m@ﬁzgﬁﬁA FAINLANIUERET TS 3201 T —)LEE

* T DEFE

THIEEZRET B




GREASE
L UBRICATION
PUMPS




299 @)
OIL MIST LUBRICATION (AR-oIL MiST) T s

AGP-DG10 | Electric drive Type

AGP - DG10
@ @
(D ARYUNG Grease pump

@ Pump classification / R > 748

v~ AGP-DG10 type is a small electric fixed-quantity grease pump, suitable for short-distance lubrication.
It is possible to lubricate several places in combination with a fixed-type distribution valve (PVG type).
AGP-DG104 1 7. [EEEBEEBICE L\ EEBFEES ) —RR T T, BEADEA (PVGH) CHAEHET.
BHERR O MA AIEET T,

v~ AGP-DG10 type is a cartridge exchange type grease pump that does not have the mess and hassle caused by refilling
of grease, allows quick and convenient cartridge exchange, and maintains an economical and clean environment.
AGP-DGIOZ 1 Fld. U —RO@WHRICLZBEOL IV BEOLIZME L. URTEFBH— by DHEAE[RET.
BENTY ) —VRBEE#F T2 M)y IOER 01 — IR T T,

v~ For AGP-DG10-C, the stop time and discharge time are controlled by the digital controller built into it, and the oil supply
is automatically performed at the set time.
AGP-DG10-CODIFE. R  MHEEIEREO 7TV 2)La> ~O—Z THfEIL. RE L -RBICEEMICHRL £ 7.

v~ It has a wide range of applications such as injection molding machines and various industrial machines.
ST R O ST IR CIRIE VRN B D 7,

PUMP SPEC’

Discharge | Working | Pressure [ Cartridge | NLGI Outlet Controller DC24V

N ! I{EEE j
voluze pressure |range capaCIty o. 0 FlEEEE Motor 0ut put Current
HiH=E ERER FEHEEEH @,/m,
cc/min MPa MPa

Appearance | 5\

—
a
-h.\

i

W TR




ELECTRIC DRIVE TYPE

AGP-MGT10 | Electric drive Type

AGP - MG10
@ @
(D ARYUNG Grease pump

@ Pump classification / R > 7548

v~ AGP-MG type is a grease pump exclusively for machine tools, suitable for short-distance lubrication, and it is possible
to lubricate several places in combination with a fixed distribution valve (PVG type).

AGP-MGR 1 ZISTFEMER DY ) —X R 7T EEREBICEL TED. BENEF (PVGE1Y) CHAEHET
BHREROEBNFIETY,

v~ AGP-MG type is a cartridge exchange type grease pump that does not have any mess and hassle due to refilling of
grease, allows quick and convenient cartridge exchange, and maintains an economical and clean environment.
AGP-MGE A & ') —RFHEIC L B FEDD D 59 RRTEFAD— b U OO AT, HENTY ) —2BER
REMRT 50— by OB ) — R T T,

v~ Various machine tools, various industrial machines, etc.
BRI S IIEER. STEEERNS

PUMP SPEC’

Discharge |Working |Reservoir (Cartridge) [ NLGI Out-let DC24V

volume pressure | Capacity g MO

HHE  |BREN | 4vo%nE Motof Jurtput | Cumrent

cc/min MPa ) ) W A
AGP-MG10 7 5.0 0.7 #000 1/8" 32 20 ‘ 143
Appearance | & Circuit diagram | El%X

=

1
|
|
|
|

Tank ~

AT T M b 700! Cartridge type
: Suction Chock wiv T
TR
ERORC
— Pressure afw
; ":jj‘_,?'n i o Digcharge Chack viv = -

QUTLET(PT 1/8")
/

1 ]




GREASE LUBRICATION PUMPS @

AGP-15 Series | Electric drive Type

AGP - 15 M - CT - 110
© 26 @ 6

(M ARYUNG Grease pump ® Voltage / EBJE (V)
@ Discharge flow / IHE 110110V 220220V

(3 Control device / FIfEEE
M : Machine side control / #8114
C : Self-control / B DI
@ Grease injection method / 7' — ZSEARE
No mark: Filing/ 7548
CT : Cartridge replacement / 73— k1) v & D3R

v~ AGP-15 type is a small electric grease pump that has few lubrication points and is suitable for short-distance
lubrication. It is possible to lubricate several places in combination with a one-pipe distribution valve (ARU-R type).
AGP-15% 1 73, BEmHA D7 EEREBICEL NEOBE S ) —ARY T T, ME/NA THEFA (ARU-RZ -
7) A EDE T EHEFOFHENAET

v~ The AGP-15M type does not have its own control device and can be controlled by an external controller.
AGP-15M% 1 FIZIFIRBE OFIEREEN 4 <. A Y FO—F THIEBTI 9,

v~ For AGP-15C type, the stop time and the discharge time are controlled by a digital controller built into it, and oil is
automatically supplied at the set time.

AGP-15C2 1 7DiHE. FLERBCHHERIENBO T o42)LaY bO—3THIEL. RE L RBICEENICE L%z
HEL £

v~ AGP-15M(C)-CT type is a cartridge exchange type grease pump that does not have the mess and hassle caused
by refilling of grease, allows quick and convenient cartridge exchange, and maintains an economical and clean
environment.
AGP-15M (C) -CTE A Fld. U —XDOWBRICEDEODLIPEOLIZRLIET. RERTEMAH— v IO
AJRE T, BN T -V AREZHIFT 2 h— )y ORI — RV T T,

v~ Press, conveyor, crane, specially equipped vehicle, ship, paper machine, and various industrial machines, etc.
BARIETLR DRV — L= 5SHERE. M. P SBEEns.

’
PUMP SPEC
Discharge| Working | Pressure | Reservoir | NLGI | Out-let
volume | pressure | range Cartridge)| No.
apacity Rated [ Current
i ERE | 52058 |25 |0 e |
PT V. A
15M 12 ) 95 50 | 100/200 | 18/0.9
15C — 100 2-12 2.0 #000-1  1/4 Filling 90
15 60 110/220 | 1.8/0.9
; 12 8.7 50 100/200 | 1.8/0.9
ig:;’l-cc': — 100 2-12 0.7 #000-1  1/4"  Catridge 90
15 8.8 60 110/220 | 1.8/09




ELECTRIC DRIVE TYPE

Appearance | A& Wiring diagram

BChR]
AGP-15M(C) AGP-15M(C)-CT

CONNECTOR|  PLUG

1) (2 @ O

M@ : POWER
% 1:RED
2 BLACK

Notes on use | FHLDEE

AGP-15 type grease pump has a built-in relief valve to control the working pressure. If the working pressure is set too
high, the durability of the pump may deteriorate, so an appropriate pressure must be set.

AGP-15% 1 7D — 2R AIldE. EREHZFIEIT 27200 1) =T NILTHMEMAENTVET, FAREIESETE
LeFBr. RYTOMAMMET T RHBENHD £TDT. BUYBRENERET Z2HNENHD £,

During initial piping installation, before connecting to the distribution valve, unscrew the air vent, operate the pump to
drain air, and then connect the piping after checking that the grease comes out

EOBEOUHIRERIT. NEAICERT 28I, T7AY hZigdD. RO T2 TEQZHRVTH S, JU—IBHT
W3 e ZHRLThSEEZER L TIETL,

The material of the tank is made of reinforced plastic, but it is damaged by thinners and chemical solvents, so be careful
when cleaning and washing.

22 OMBIFBETZRF v I TIN S oF—PHFRAICLIDBIEL ZT DT, B - HAICITTERLT L,

The grease used is lithium-based NLGI No. Use only clean, high-quality grease in the range #000 to #1.
T30 1)=&V F T LRNLGINOT T, #000~#1DEHDEZTCEREDY ) —IADHZMALTIEI L,

Mixing with other types of grease may cause contamination or deterioration due to chemical reactions.
HOREED I ) —REBET D MERIDICKEZFERPHUDERC 225650 HD £75

% Refer to page 63 for grease filling and cartridge replacement.
¥ T —ZOFTIEPH— by DO DWTIE 63R—I% TERTET L,

Minimum setting conditions | g/)\&ws4

Discharge Time As this pump is an intermittent grease pump that uses a small motor as power, it
(S TH) (thLEBS ) maximizes the instantaneous output and generates high heat from the motor during
operation. Therefore, a sufficient intermittent stop time must be set according to the

1~ 10sec About 2min or more table on the left.

FRVFNEE-Z—ZFNRET AR J)—XRYTTH B, B
HhEEAMEL. BERICE-Z-D 5@ eRELET, LD oT £OX
IR T TRLBETHFELREZRET 20BN HD 9,

If the intermittent stop time is low, the heat dissipation time of the motor
31 ~ 60sec About 5min or more is short and high heat is generated. In this case, the motor is automatically
stopped by the safety device installed inside. However, when the heat cools, it
resumes normal operation.

61 ~ 99sec About 10min or more BRELEEENMEN . E—2—ORBEBINEC. BRALET, COBA.
T2 —IEABBICKRE INT-LZER2EEBICL>TEINICELELET, L.
MHBRDEBEOHEICED £,

11 ~ 30sec About 3min or more




GREASE LUBRICATION PUMPS @

T3

Panel @ Feed button @ Interval FND g 7y I
d ioti @ Reset button ® Discharge FND i JH?!’FJ' i o CE€ i
escription 3 Mode button TR
A JTO |G 2FAS .:__"..' E
05 B3 |
NTERVAL THI JECHARGE T E
How to set the timer | % v—o&RES*
@ MOD feen ) feser) |
* Adjustment range * REEEEE LR T ? v
Interval Time 1~29h 59min A 22— )N © 1~2985E599 — —— A
Discharge Time 1~99sec MR ¢ 1~99%) (35 ({) @
1) How to set 1) REFHE
MODE M setting start, move, setting complete T-F B REHR BE. RET
FEED A Raise the value T4 —RAfExR EIFB
REST W Decrease the number Uty bV BERST

A) INTERVAL TIME setting (1Imin~29hr 59min) ® If you press the mode' button once, the INTERVAL TIME cursor blinks. At this time, the
first two digits indicate the time and can be set up to 29 hours. Time setting increases or decreases TIME with FEED'(A).RESET(W) button.
After setting the first digit, press the MODE button to move to the next column and set the time. When the time setting is complete, press
the mode' button once again. Then the cursor flashes at DISCHARGE TIME. At this time, the two-digit number represents the minute (min)
and the maximum setting TIME can be up to 59min. The increase or decrease of TIME is the same as in No. 1.

A) A 2E=NIVERERE (19~29K/597) @F— RARZVZIEMRT L. A >2—NIEEA—VIARBLET, COrsd &
POWTIEZZ R L. RAIBEE TRETI £, BEREF. 7 — R (&) .Uy~ (V) REVTEEZERLET, &7
DHiERELTR. E—RRZVEZMLTROINIBE L. KEZREL 7. BERENT T LS. D5 —HEE—RFRZ V2L
9, 0% BERICH—VIDRRLET, COrSE H70HFIE () 2RL. BARERBIIEASINTY, BREOBRIE
No.1£E LT

B) When the DISCHARGE TIME setting (1sec~99sec) time setting is completed, press the ‘MODE’ button once again. Then the cursor
flashes at DISCHARGE TIME. At this time, the two-digit number indicates seconds (sec), and the maximum setting time can be up to
59sec. The increase or decrease of TIME is the same as in No. 1.

B) MHEEREREAM~0M)ERRENT T LS. DO3—E IE—R) REVEBLEYT, 0%, HEEICHA—VILDSHL £
o COEE MTOBFIEE)E TR L. RAREREITEASIM TY, RREDERIEIN0.IEEL T,

C) If there is no input within 10 seconds during the setting, the setting is regarded as completed and it is automatically converted to the
operating state.

O BRERICIOMURICAIN B WEE, REFTT LiceAaTh. BFRNICEPREICESRINE T,

D) Each time the “A” and “W” buttons are pressed once, it increases or decreases by 1 value, and if it is pressed continuously, it increases
or decreases continuously.

D) TA) RE>e VW) RE BN, MBS DEBRL. BHL TR &, L TERLE I,

2) RESET function
If the “RESET” button is pressed while the operation is in progress, the set initial operation state is restarted.

2) Uz hikeE BRI TRESET) RE > T & BE LIHIESRIRREICRED 95

3) FEED button function (manual lubrication)

If you press the “FEED” button while the operation is in progress, “FEED” is displayed on the display window, and oil is discharged while
pressing it regardless of the set time. It can be easily used when the initial piping is installed to remove air in the piping or when manually
refueling.

3) T —RRZ KR (FEHEH) BEHIC TFEED) RE >3 & RREIC [FEED) ARRIN. REFMBICEIRA <
BLAD ST AMIUDEESNE T, VIHEEZRE L TRENDOZER = R<IHE Y. FETHRAT 25EICBRICEATEERT,

4) Oil shortage alarm (Option)

When there is insufficient oil in the pump, “OIL” is displayed on the display window and a buzzer sound is generated so that the lack of
oil can be easily identified.

4) FANKRRTZ—L (AT 3Y)

RYTHOFAINWAFELTWBHEIE. RRAEIC 0L eRRIN. TH—BHBO. TN FEZEEICHITTES




299 @)
MANUAL TYPE UBROATION v

AHGP-700 Series | Manual Type

AHGP - 700 ©ARYUNG Hand Grease pump
@ @ @ Tank capacity / % > 7 R (cc)

v~ AHGP-700 type is a small manual grease pump, suitable for short-distance
grease lubrication, and it is possible to lubricate several places in combination
with a one-tube distribution valve (ARU-R type).
AHGP-T00% 1 ZI3VNBUFEN ') — AR TT0 fEEERES ) —XBEBICEL TH 0.
D>Fa—TRE/NILT (ARURE A ) CHEAEHE TEEEROBEH AIEE T,
v~ Press, conveyor, crane, specially equipped vehicle, ship, paper machine, and
various industrial machines, etc.

BRIETLR AURY— JL—> BERERE. MR i SEERHNS.

PUMP SPEC’

Type Discharge Max' Pressure | Reservoir - Filling Method | Net Weight
B volume ). ZoiEA T 2
RS

cc/st

AHGP-700 1.0 15 700 #000~#2 1/8" Filling 12

Appearance | 5\

(230) o - @ Pump body
- @ Grease tank
@ Tank cover
@ Lever

® Airvent

(F

PT1,/8(06)
DUTLET

FILLBG MIPPLE(PT /87)

LT 304 MOLES
L -

When viewed from the front of the handle, there is 1 outlet on the left and right sides, but the right outlet can be used
when the product is shipped.

NYRIVEAEDSRZ . EAICIDOHEOLH D FIH\ EmFEEREICERIOEEONMERTEE,

The material of the tank is made of reinforced plastic, but it is damaged by thinners and chemical solvents, so be careful
when cleaning and washing.

2 DOMBIZBUETIRF v ITIN S oF—PHFBAICLDBIREL ZTDT, B - HRICIITERLT L,

The grease used is NLGI No. Only clean, good quality grease in the range #000 to #2 should be used.
AT %71 —RIENLGINOT T, #000~#20DEHEDERT @mBEDY ) —ZADHEERAL TSI L,

Mixing with other types of grease may cause contamination or deterioration due to chemical reactions.
tOBEDY ) —XERET B . KERISICLDBFRCPHUDRERE B BH5EDHD £,

Do not apply excessive force as it may cause damage if the pump handle is pulled forcibly.
RYTNY RIVEIRIZE o5R2 CIRIB T 68N H D £ IO T, FIELRNZMRBVWTIZI L,



299 @)
AIR DRIVE TYPE T s

AGP-720 Series | Airdrive type

AGP - 720 F - CT
®© @6 @

(D ARYUNG Grease pump @ Grease injection method /
@ Discharge flow / it H#E TI—RENTE

i
® Level switch / LARJLZA v F No-mark.. Fling /55
No mark : None / 7 L CT:Cartridgetype/ h—~ ) wo& 17

F: Mounting / &%&

v~ AGP-T20 type is an air grease pump operated by compressed air. It is possible to easily control the amount and
pressure of grease discharged by adjusting the air pressure and is suitable for relatively long-distance oil supply. In
addition, it is possible to lubricate several places in combination with a single tube distribution valve (ARU-R type).
AGP-T20%2 4 1. EMEER TIEENS 2T 70 ) — ARV T TY, ESEZHEBTZHCICED HEINZTU—IXDECE
N=EBBICHNENT 2 N TE EEBIREBOA 1 JUEHGICEL TWE Y, oo BEQIA ARUREZ( ) CiisdabhtE
T EEROE D AIEET T,

v~ AGP-T20-CT type is an air grease pump with cartridge exchange method. There is no hassle due to refilling of grease,
cartridge exchange can be done quickly and easily, and economical and clean environment can be maintained.
AGP-T20-CTZ A1 ZldE. h— btV yIPKIBARDI 7T —ART T, JU—RDFERICEZFEN AL A=Ky
DREHRRD DERIITR . BENTO ) -V AR HIFTIET,

v~ Press, conveyor, crane, injection machine, ship, paper machine and various industrial machines, etc.

BRIGTLR ANV — JL—2 SIHBTEHE. M. . SEBEXNS.

Discharge Max' Pressure | Reservoir Filling Method | Net Weight

volume H BROBE ., FoES R 58

riiRE

cc/st Kg
AGP-720 04 15 2.0 #000~#1 1/8" Filling 37
AGP-720 F 04 15 2.0 #000~#1 1/8" Filling 4.2
AGP-720-CT 04 15 0.7 #000~#1 1/8" Cartridge 39

Since this pump has a built-in cylinder, an air unit must be installed to remove moisture and lubricate.
ARV TES ) A —2RAE L TWVWB T, KRZeBRELTEETALOICITIZ Y b ERET2HENHD £,
AGP-T20Series is a one-pipe grease pump that can be used in combination with a one-pipe distribution valve ARU-R type.

AGP-T202 U =X F. BEREHARU-REZ A TLHABHE THEATI2BES U -IRYTTY

During initial piping installation, before connecting to the distribution valve, unscrew the air vent and operate the pump to drain air.
BeE DYIEAER BRI, DECAICHEERT S 2R0IC. TR MEIED. R TERBEL TEIEHRVNTIZT L,

The grease used is NLGI No. of Lithium system. Only clean, good quality grease in the range #000 to 1 should be used.
R ) —XE)F I LRDNLGINO, TT, #000NS1DEFHDFERTCEREDNY ) —ADAHZMFAL TSIV,

The material of the tank is made of reinforced plastic, but it may be damaged by thinners and chemical solvents, so be
careful when cleaning and washing.

BV DMEIBEN T ZIF v IHTII 22— U ERICE DBIET 2ENDBD TTDT. HFAN  FRIIFTEEIEE L,

% Refer to page 63 for grease filling and cartridge replacement.
¥ ) —ZDTTHEPH— F )y DO DOVTIE, 63R—2% TBRET L,




AIRDRIVE TYPE

Discharge pressure | ntiF# Discharge flow | nt

(uPa)

20

L=

—

01 02 03 04

05 06 07 (W)

Air Pressure

Appearance | #\#:

AGP-720

@?’

b

2130

(B) | 65 | " 4-uexi0p —®
VIEW A"
EEE— 5
AR SUPPLY PORT FILLING PORT
PT1/E FT 1747
1
Oy il ) O
N T 1 "
P-E‘SE] |y b
-, t | 1 !
aR vENT /| 45 (77) B | '\ OUMET (PT 1/67)
235
i
A
AGP-7T20 F

® | 85 | \a-weniop
VIEW "A"

AR SUPPLY PORT
PT 1/8%

AR VENT /

AGP-720-CT

@) | es

VIEW A"

AR SUPPLY PORT

BT I8

225

_45_|_ (77) s _

223

" &

N =
==}

(o mie)

% The discharge pressure

100

and discharge flow rate are
determined according to the air

3
50

e

pressure.

4

25 3

XIEHES. HHARBIERES

]

FEICEDRED T,

01 02 03 04 05 0.6 07 (N

N

219
279

Air Pressure

@ Pump body
@ Air cylinder
® Cylinder body
@ Grease tank
® Air adjust bolt

@ Pump body
@ Air cylinder
® Cylinder body
@ Grease tank
® Air adjust bolt
® Limit switch

@ Pump body

@ Air cylinder

® Cylinder body

@ Grease tank (Cartridge)
® Air adjust bolt



299 @)
DISTRIBUTOR UBROATION v

ARU-R Series | Progressive single line
ARU - 4R - M
® @

( Division of the number of distribution / B2 O#X 7
4R 4Point 6R - 6Point
8R : 8Point 10R : 10Point
12R - 12Point

@ Limitswitch/ 1) S w b1 wF
No mark:None /7% L, F:Mounting/%&

v~ ARU-R type is a one-pipe grease distribution valve, and it measures a certain amount of grease discharged from the
pump and lubricates each lubrication point sequentially.

ARU-REZ A ZIFEEY ) —XDEFAT. ROTHoHHEINE—EEDY ) —XZAE L. BRhERzIBXEHL Z9,

v~ When the distribution valve completes one cycle operation, the indicator rod moves forward and backward once, and
if the pipe of either outlet is blocked, the distribution valve does not operate, so it is easy to check whether there is an
abnormality with the eye.
DEADIY A VIV EGRETT 5. RNEDNILFRICEEL. CE55HDOHACEENFEE > T2 L AEADIES)
Lawnice, BTEEDRVHHERLP T L,

v~ The ARU-R-M type is a distribution valve equipped with a limit switch and can detect abnormalities by monitoring the
operating cycle of the distribution valve.

ARURMEZA AL ) Sy b1y FEBRICDECATH D DEHOENEY 1 V)L 28519 5 TEEZRHT A A TEET,

v~ Operating temperature -20°C~70°C
ERRE-20°C~T70°C

Type Discharge Discharge Min. Max. Branch
point volume Pressure pressure pipe

HEOoH |HHFHEE REEHD =ED ZEE
cc/st MPa PF

ARU-4R #000-#1 0.64
ARU-6R 6 1/4" 1/8" #000-#1 0.64
ARU-8R 1/4" 1/8" #000-#1 0.64
ARU-10R 10 1/8" 1/8" #000-#1 0.72
ARU-12R 12 1/8" 1/8" #000-#1 0.72
Sub-parts | #y2a
AU-16 AU-26
: -’
. ! H (@) A
it (®) P e = k"
/e \ : .
| ' ‘ i |
r Vi n . !

% ARU-R type distribution valves are structured to operate in a sequential manner, so when you want to use an odd number of outlets,
you must not block the remaining outlets, and you must use an auxiliary bracket. At this time, the discharge amount is doubled.

¥ ARU-RZ A T ORI IFIBRIFBN § 2RBEICR > TV BT, FHROEOZEAY %A RO OHOZEN I #7577y b fEH
TRINENHDET, COCI HHBIFABFICHD T,




DISTRIBUTOR

Appearance | 5\

ARU-4R, 6R, 8R

4.25
2.3

ARU-10R, 12R

PF 1/8" /

PF 1/8"
/(OUTLET)

- 92 2-$7 HOLES

=TI
Ly

68

- IR

=

S

(

ARU-R-M (Limit switch option)

PF 1/8"
(OUTLET) \

(114)

INLET)

(80)

E

59
_ 52 _ .
. 45| 2-67 HOLES

3
9

59

- 99 _

A -..EE i !

I=E=
© ! [

\PF 1/8" %'

(NLET)  x

33

|J 2,] §1 .10




GREASE LUBRICATION PUMPS @

PVG Series | Measuring distributor

PVG - 10 - S
® @

@ Flow code/ 7H—2—R @ Piping method / BE& 7%
No mark : One-touch method / 7> % wF A=,
S Screwed / 72 LA &

v~ PVG fixed-quantity valve is a valve designed to be used in an intermittent oil supply system. It is a fixed-quantity lubrication
valve designed to improve the quantity of grease by piston operation.
PVGEIEE/VL T3, WV 7AiaHS X T ATHER T 5 7edICRETINI/NIL T TY, Shld. EX M UAREICE>TI U —
ADEZHET DL DICHETINIc—EE2DHE/NILT T,

¥" Due to the small flow error range, it is suitable for precision lubrication systems.
MR RE IR oo, IREEY AT LISELTVE D,

Depending on the piping method, there are screw type and one-touch type. Especially, the one-touch type can shorten the
time required for piping, which is very beneficial for cost reduction.

FEBAEICED. XRORET AV FRALBHD T, FHICT Ay FEA FIREICHD AFEEZR/BCI27H. IR+
BIRICIERICRIIBE £ 7,

When configuring the system, use it in combination with the ARG-M type distribution valve.

ST LERLY BBE. ARGME A TDREL/NIL T CHEAEDE THERL T RT L,

Type Volume Using pressure | NLGI L Bore of pipe
Bt e EREH ;"g mm
S e e
47

PVG-10 0.1 1.5 or more #000-#1

PVG-20 0.2 1.5 or more #000-#1 55

PVG-30 03 1.5 or more #000-#1 65 M10X 1.0p M8 X 1.OP

(One Touch)

PVG-40 04 1.5 or more #000-#1 65

PVG-50 05 1.5 or more #000-#1 65

Appearance | 8 Example of use | rfi
(B)
A
i T,
Glo| 7

(Fy [ ‘

fif




299 @)
ACCESSORIES UBROATION v

Distributor

ARG-5 M ©

RS ! M o @ Number of distribution ports

BefpR— D
e —— — .

v~ Used in combination with PVG distribution valve.
PVGHECF s AEHhE TERL 95

Appearance | 5\&} Point [ Dmeon |
O e e e
£ ; = 2-94.5 HOLE 8 56 6 36

I- A | puie N T ARG-2M 2
& | —t—t—t=7 = N ARG-3M 3 7 2 52
- | | apgksm | _I_ O [ ARG-4M 4 88 48 68
i . T ARG-5M 5 104 64 84 G063
M- A - ARG-6M 6 120 80 100
ARG-TM 7 136 9% 116
ARG-8M 8 152 112 132
Grease

v~ AGP-DG10, MG10 exclusive grease.
AGP-DG10. MGI0ZERY)—2X,

: TEHMWER AGP-MG10
ARG-00 (Machine tool) #00 AGP-DG10(C)
ARG-1 SIS #1 AGP-DG10(C)

(Injection machine)




ACCESSORIES

Fitting

NIPPLE | =v 7L

e
Dia

TD4-1/8K1 PT1/8"  M8X10p BsBD3
5 TD4-1/8K @4 10 8 18  PT1/8"  M8x10p 11  BsBD3
TD6-1/8KI @6 10 8 18  PT/8"  MIOX10p 12 BsBD3
TD6-1/8K @6 10 8 18  PTL/8'  MIOX10p 14  BsBD3
L1 1 L2 | TD6-12K @6 10 8 18 MI2x10p MI0X10p 14  BsBD3
HEX /| LS

" G G
Dia

TA-4 M8X1.0p BsBD3
ﬁ TA-6 26 6.1 4 7 13 M10X1.0p 10 BsBD3
S|
HEX
SLEEVE | X)—7
Type Pipe Material
Dia
| — TB-4 BsBD3
D T
LN TB-6 a6 6.1 8 17 5 BsBD3
L2

ELBOW | T/LR—

Y
Dia

-
41' TH4-1/8K1 @4 13 PT1/8" M8X1.0p BsBD3
wnl
—| TH6-1/8K1 @6 16 22 12 10 22 PT1/8" M10X1.0p  BsBD3
\ "
Ol
1 1 _
2 L1




ACCESSORIES

ELBOW | T/LR—

T

T2

oL1

SEAL PLUG | > =737

HEX T
Fv .
L1 | L2
. L5

SEAL PLUG | >—IL 7355

HEX T4

\ |
>
Lot L2
EEN
TEE| 7+—

(]

=T1

L1

R G

T1-1/8K1 12 PT 1/8" PT 1/8" BsBD3

R N G G e

168 M8 1.0p BsBD3
T6-10 5 5 12 M10X 1.0p 14 BsBD3
T6-12 5 6 13 M12X1.0p 17 BsBD3

ol N G G e

TG-1/8K PT1/8" BsBD3

S G ) G el

KD-4 235 M8X10p  ZnDC
KD-6 14 30 85 9.5 235

M10X1.0p  ZnDC




GREASE

TeChnical. data | FEARLE LUBRICATION PUMPS

Pipe cleaning and commissioning | figaiR r thEes

When the piping of the pump and distribution valve is installed, fill the grease up to the upper limit of the oil level by
using a filling pump or a grease gun in the grease filling port on the front of the pump to prevent air from entering.

RO TeRBNILTOEBENRESNTVSIHESIE. RYTRIEOY ) —IFBEOICTER Y T &3 ) ) — XAV & fE
ALT ZBASBVESITHAD LRETY ) —RZ2FEL TR TV,

To clean the pipe of the main pipe first, separate the connector from the front end of the distribution valve, then
operate the grease pump to sufficiently drain the grease from the pipe end, clean the inside of the pipe, and then
connect it to the distribution valve again. (If the piping is not flushed after the first installation, a fatal breakdown in
the distribution valve may occur due to foreign substances in the piping.)

XA V)N FORE R LISER T 2I581E. DRADHIHA S AR I 25N L. F) =Ry THBIEL TEEIHRI Y
J—E+DICHEH L. BBERZERLTHS. BUODENILT, EBUORBRICEEEN 7S v atnaWga. B
EROEMIC LD DE/NIL T OBSINAKMENRE T 3REMLAH D £, )

In the case of a lubrication pipe (branch pipe), do not connect directly to the lubrication port, but drain the grease to
the end of the pipe before connecting it to the lubrication port.

BHE (DIKE) OBEIE. BHOICERENE . BROICER T 3FICERE TY ) —X 2RV TL T,

Grease filling method | 75

When filling the tank with grease, use a filling pump and inject it only through the grease filling port on the left side of the pump.
AT —REFHES B5EIE. TERY T2 ERAL. RO TARIDT ) —IFER— DS DAHFALTIIZT W,
When filling the grease, be sure to observe the upper limit of the oil level.

J)—2&FHET DL EIE BT FAILLARILD LRZET>TLIEE LY,

Do not open the top cover of the tank and add grease. If grease is added by opening the top cover of the tank, air
bubbles are contained in the grease, which may cause poor discharge.

220D EERAN=ZFITTI) —RZEMLBVTLRE Ve 22T ERAN-ZRITTI ) —RZMITH L. JU—X
ICKUEAIAD. HHARDREC 30 £,

For cartridge type grease pumps, replace and install the cartridge filled with grease.
N—b Uy ORI =R TOHE JU—ZANFTESNIA— M) v oz L TRD I &7,

How to replace cartridges | 71—~ v ossgssE

Remove the plug and gently press the back of the cartridge so that the
grease comes out to the neck.

T30ZWMOANL. A—bDyDOERZE>CIRLT JU—RD Ry IICHS
£2ICLFE D

While pressing the rear of the cartridge slightly, combine it with the pump
inlet to prevent air from entering.

A=)y PBREEBRRLAN 5. ZRNASBVEDITRY T AOCHEA
~ APET I,

Cartridge Advantage | n—rU v U ES

There is no mess and hassle due to refilling of grease, and cartridge exchange is quick and easy, so an economical
and clean environment can be maintained.

B —ROFFICE BB LEIH R A— by OSHRASRRD DEE T, AN T ) -V RBRRZ#F I ET

As an airtight container, it does not deteriorate because it has no connection with air and can be used for a long time
because it is not separated from oil and soap.

[EREE LT EZQEDDBRADHLBWNcoHBAH L SHPY —Th o N2V O RBEFERTE X7,




Technical data | £ffi7—#%

How to replace the grease cartridge | 1) —z1—rU v oA %

CAl el

1. Cartridge cover & cartridge removal
A=)y PAN—EA— Uy
DEOHAL

1) Power off the pump.
RYTOER=ZYIDET

2) Remove the cartridge cover.
A—MUyPAN—ZED HLET,

3) Remove the empty cartridge by
turning it counterclockwise.
ZEOH— by D REETARICE L
TEOHLET,

% If the cartridge is removed while the grease remains, air will flow into the cartridge.

=
=

1‘3 !

2. Combination of cartridge &
cartridge cover
A—hUwPeh—hrJvIh
N—DREAHEDHE

4) Insert a new cartridge and
assemble by turning it clockwise.
FLOWA—RU Y DZEAL.
Bt AmICEl L TEAILTE Y,

5) Cartridge cover assembly.
A— by PHN—HETL

6) Remove air after supplying power
to the pump.
R ANCB =M Ltk
ZEREIRNTLET L,

3. Caution

- Do not leave the pump without
cartridges and covers.
% Foreign substances may
enter and cause pump failure or
malfunction.

A=hrJ Yy CAN=BLTRY
TEBELBWVWTLET L,
REMHAD . R T OHEPH
BEORECEED XY,

- Do not run the pump without the
cartridge assembled.

A—bD Yy EBAHITT IR
TEBELBVWTLET L,

If you reassemble and use a cartridge with air in it, the pressure will not rise and the pump may be damaged.

KO =ZDESTEEN— M)y DEANTE A— by DICEIDTRUAAE T,
ZEIDASTeA— by DA TELTERY 5 & BN ERET. RO THEETSRREMIH D £,

How to subtract Air | T7i=53%

% After installing the pump for the first time or replacing the cartridge, remove the air as shown below.
X PMD TR TEERDMITZDN A— )y DRI IRIE. UTOLSICZER T TFRWTLES L,

1) Loosen the air vent located on the left side of the outlet by turning it counterclockwise 1~2 turns using a spanner (8mm).
ZNF (8mm) ZER LT HHEOOARICH 5 @KL REsTAMAICI~2EERS 2 TRO £ 7,

2) Supply power to the pump.
RYANBNZHEL F 7o

3) Operate the pump until only grease comes out without air through the air vent.
ITRY D SEGHBRVRETT ) —IOAD B EF TRy T2 EEL L £ 7,

4) If only grease comes out without air, stop the pump.
ELQBLTI ) —ROADHTSIIEEIE R T&2FEELE T,

5) Turn the air vent clockwise to lock it and then operate the pump.
IT7ARY bEETAEICELTAOY Y Ly RY T2 EBI £,

% Fill grease so that there is no air from the pump to the distribution port at the end of the main pipe.
KRV TDBRA Y NA THOREOE TESHASBVE SICT ) =R FTIEL T TV,



History | sz

From Korea's leading brand to a global brand!!
Aryung is always with you in the development of machine tools!!!

BEARKTZ T TV RS O-/NILT T RAIL Aryungld B IC TR OBERICIED > TWL g1l

@)

GREASE
LUBRICATION PUMPS

Bronze Tower Order of
Industrial Service Merit

TOVAA D) —FEEES

1976
1980

1982

1982
1982

1987
1992
1993
1996

1999
2000
2000
2003
2003

2004
2005
2006
2007
2007
2007

2007
2008

2009

2009
2010
2012

2014
2014
2015
2015

2016
2018
2019
2019
2020

05
04

02

02
05

09
12
05
11

11
12
12
04
09
10

10
05

02

03
11
02

02
10
03
12

12
07
04
10
03

World Machine Tool Exhibition
HRTIEHERE

System assembly line
SRTLMENTA Y

Established Ayung Machine Tools

Designated as a specialized oil pump company by the Ministry of Commerce and Industry
(No.79-118)

Designated as a company approved for modernization action plan
(Small and Medium Business Corporation No.81-208)

Awarded the Presidential Citation for Excellent Small and Medium Business (No. 54709)

Awarded the Deputy Prime Minister's Award, selected as an excellent domestic machinery
development company (No.87-104)

Selfcleaning service plaque (National Tax Service)
Overseas Market Export Industry Award (Korea International Trade Promotion Corporation)
"CE" European safety standard certification (TUV Rheinland)

"EM" machinery, parts and materials excellent quality standard certification
(Korea Institute of Technology and Standards)

ISO 9001 quality management system certification (KSA)

"CSA-C-US" American and Canadian safety standards certification

(CSA INTERNATIONAL)

Awarded by the Minister of Commerce, Industry and Energy for export contribution (No.47955)

Awarded the Minister of Commerce, Industry and Energy citation for trade promotion
economic development (No.54163)

Commendation from Jeollanam-do governor for export contribution (No.1421)
Established a local subsidiary in China "Along Machine Tools (Dalian) Co., Ltd."

Awarded the Prime Minister's Award for "Machine Tool Development” (No.133740)
Awarded the 1 Million Dollar Export Tower to commemorate the Trade Day

Established company-affiliated research institute (Korea Industrial Technology Association)

"MAIN-BIZ" (management innovation small and medium business) certification
(Small and Medium Business Administration)

Acquired single PPM certification

"INNO-BIZ" (Technology Innovative Small and Medium Business) Certification "AA Grade"
(Small and Medium Business Administration)

Received the Bronze Tower Order of Industrial Service Merit
(Contribution to National Industrial Development)

Acquired "NRTL" North American stability certification
Received a commendation from the head of the National Tax Service (No.47687)

Acquired the certification of the minimum efficiency system for motors of 0.75kW or more
(Korea Energy Agency)

Jeollanam-do Export Prize (No. 39)
Acquired premium efficiency standard (IE3) certification (Korea Energy Agency)
Awarded the prestigious longevity company award (Ministry of Trade, Industry and Energy)

Deputy Prime Minister of Model Taxpayer and Minister of Strategy and Finance Award
(National Tax Service)

Awarded the 3 Million Dollar Export Tower to commemorate the Trade Day

Awarded the 5 Million Dollar Export Tower to commemorate the Trade Day

Selected as a Global small giant company (Ministry of SMEs & Startups.)

Received the Presidential Citation for National Industrial Development (No.220639)
Selected as a Materials & Parts specialized company (Ministry of trade, industry & energy)

'[W’J BAELERRERESTTISEIS N,

. J[’ Wo01)—
AR
- ITCE) Rz

- TEMy Ht.

“1SO G001 mEEIEY X7 L
- ICSACUS) 7XUABS

ATROFRE
- TMAIN-BIZJ

LS T LR

Automated processing line
BHEMUES 1 >

T A TR 3L
: EﬂI EGEI)Q

IR TERAN
(No.79-118)

SEAAATENRHE] /EP JBZEEANOSI- 208j

DG

ERTATICEE

EEAD MR TAREERZE (No. 54700)

Hﬁbﬁ’%% (No.87-104)

VIR TFT—0 (ERT)
g (BEEREZREAN)
LR (TUVRheinland)

. MEOBN - mERAERRT
(RS

-~
Sona L

CSA1 > B2—F>a+)L)

BHEERIOT L TRLIRLE—RRD SR
-”E%r B ERBED ORI TR —

ZER L TI00H R 3
vl ﬁﬁl,*“

(RE=FPNEE) 375

(F/BEFT)

> )LPPMEREE Z BUS

~TINNO-BIZ) (&) \bZ) 775
CTMT =Ry (FVRER)
IOV —EEE

ERELERAOTH) 228
8

KEIZTERREE INRTL) % EUS
ERTRED aivﬁ?ﬁ Tz
O0T5KWML EDTE—2—DRENES 27 L DR

(NoAT687)

AT ES (i?@f*/b«fi
(5392)
(E3) SEEr#EVS
@EETR)ILF—2H)

-%Bh7§ﬁ\¥

- TR ! )
E Elhm‘fb 300;mb~)$€&‘@77 ]
25 DHE%E0% L TH00H R

O=NL R R

EREEDRE K%T%E?i ;7§‘% (N0.220639)
EM IR EFIDEITET (EEEHERN)




WWWw.aryung.co.kr

ARYUNG MACHINERY

IND. CO.,LTD

J«

il

nENBET

HEADQUARTERS

#48, Damsun-ro, Keumseong-myun, Damyang-gun,
Jeonnam, Korea / 27 /Bf5EE £ 2 &2k 48

TEL +82-61-380-2200
FAX +82-61-382-3094
URL http://www.aryung.co.kr
E.mail aryung@aryung.co.kr

T S
s Ll [ I
.

SUBSIDIARY COMPANY

#9 Tieshan East 3 Road Central Industrial District
Economic Development Zone Dalian City China

U TERETDFBRAFRXRILA=ZEIS

TEL +86-411-8734-6601~4

FAX +86-411-8734-6605

URL http://www.a-ryung.com.cn
E.mail a-ryung@163.com

In addition to improving the quality of the product are subject to
change without notice in selecting products please contact our technical team.

HEO@EBR LICNATCHROERICEVWTTFERLULICEETNZFEDHD X AL OKMF—LICBBVEHLEETE L,




